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1. "*�!"+!/�  �&�$���/, !�"�)"�� /� ��/ "*�!�� �!�!��, 
' �!�� � !��/�"� ��/&��0!"%&� � #$"*�%%� "%�"�!�/ 

��%*�#��!/ 
&01;8F0 2 – (>@<8@C5<K5 :><?5B5=F88 

�>4 8 =08<5=>20=85 
:><?5B5=F88 

�>4 8 =08<5=>20=85 8=48:0B>@0 4>AB865-
=8я :><?5B5=F88 

(G0AB8 :><?5B5=F88) 

"F5=>G=K5 <0B5@8-
0;K 8 A@54AB20 

'�-4. %?>A>15= ?@8<5-
=яBL A>2@5<5==K5 :><-
<C=8:0B82=K5 B5E=>;>-
388, 2 B>< G8A;5 =0 8=>-
AB@0==><(KE) я7K:5(0E), 
4;я 0:045<8G5A:>3> 8 
?@>D5AA8>=0;L=>3> 
2708<>459AB28я 

 

'�-4.1. ��-1 �5<>=AB@8@C5B 8=B53@0B82-
=K5 C<5=8я, =5>1E>48<K5 4;я =0?8A0=8я, 
?8AL<5==>3> ?5@52>40 8 @540:B8@>20=8я 
@07;8G=KE 0:045<8G5A:8E B5:AB>2 (@5D5-
@0B>2, MAA5, >17>@>2, AB0B59 8 B.4.) 

'�-4.2. ��-2 #@54AB02;я5B @57C;LB0BK 
0:045<8G5A:>9 8 ?@>D5AA8>=0;L=>9 45я-
B5;L=>AB8 =0 @07;8G=KE =0CG=KE <5@>-
?@8яB8яE, 2:;NG0я <564C=0@>4=K5. 

'�-4.3. ��-3 �5<>=AB@8@C5B 8=B53@0B82-
=K5 C<5=8я, =5>1E>48<K5 4;я MDD5:B82-
=>3> CG0AB8я 2 0:045<8G5A:8E 8 ?@>D5AA8-

>=0;L=KE 48A:CAA8яE. 

"?@>c 
&5AB8@>20=85 

�>=B@>;L=0я @01>B0 

 

�B8G?P 1.  038AB@0BC@0 2 A8AB5<5 2OAH53> >1@07>20=8я.  >я =0CG=>-
8AA;54>20B5;PA:0я @01>B0. 
 I.  
1. "?@>A ?> 107>2O< B5:AB0< @0745;0 ?> 0A?5:B0<:  
- (1.1) D>=5B8G5A:>5 GB5=85; 
- (1.2) CAB=K9 ?5@52>4 A> A;>20@5<; 
- (1.3) 0=0;8B8G5A:>5 GB5=85 
- (1.4) 'EFAO= C9D96B8 EB E?B64D9@ (CB87BFB6?9AAB7B F9>EF4) 
-(1.5) ЧF9A<9 E CB?AO@ CBA<@4A<9@ EB89D:4A<я (<;GK4Nщ99) 
 (1.6) ЧF9A<9 E CBA<@4A<9@ BEAB6AB7B EB89D:4A<я CDBK<F4AAB7B (B;A4>B@<F9?PAB9) 
 (1.7) ЧF9A<9 E A4IB:89A<9@ <AF9D9EGNщ9= <?< AG:AB= <AHBD@4J<< (CDBE@BFDB6B9) 
 
�$�&�$�� "*�!��:  
#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8<8 :@8B5@8я<8 я2;яNBAя:   
- 7=0=85 ;5:A8:8 >1I53> E0@0:B5@0,  
- 7=0=85 ?@028; :><<C=8:0F88 =0 8=>AB@0==>< я7K:5 4;я 0:045<8G5A:>3> 8 ?@>D5AA8>=0;L-
=>3> 2708<>459AB28я,  
- C<5=85 G8B0BL B5:ABK A> A;>20@5< A F5;LN ?>8A:0 8=D>@<0F88, 2;045=85 =081>;55 C?>B@5-
18B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я ?8AL<5==>9 @5G8,  
- 3>B>2=>ABL 87CG0BL A>2@5<5==K9 >B5G5AB25==K9 8 70@C156=K9 >?KB ?> A?5F80;L=>AB8 =0 
8=>AB@0==>< я7K:5,  
- A?>A>1=>ABL 0=0;878@>20BL 8 CG8BK20BL @07=>>1@0785 :C;LBC@ 2 ?@>F5AA5 >1I5=8я.  
 
2. &�%& (Lexical & Phonetic) 
%BCBEF46PF9 E?B64 < <I FD4AE>D<CJ<N (B8<A 64D<4AF BF69F4) 

1 to pursue  A ['ækjərət] 
2 to hire  B ['veɪk(ə)n(t)sɪ] 
3 to explore  C [spə'sɪfɪk] 
4 vacancy  D [ɪk'splɔː] 
5 maintain  E [ˌkwɔlɪfɪ'keɪʃ(ə)n] 
6 arouse  F [8pɜːs(ə)'nel] 
7 interview  G ['haɪə] 
8 qualification  H [pə'tenʃ(ə)l] 
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9 personnel  I ['kɔmpɪt(ə)nt] 
10 potential  J [pə'sjuː] 
11 specific  K ['ɪntəvjuː] 
12 accurate  L [ə'rauz] 
13 competent  M [meɪn'teɪn] 
 

"&��&/:  
1 2 3 4 5 6 7 8 9 10 11 12 13 

J G D B M L K E F H C A I 

 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
to make a career 
+A45;0BL :0@L5@C   

8AA;54>20BL, 87CG0BL    

A45;0BL 2K1>@ 
 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
to feel good about smth 
?>4E>48BL, 3>48BLAя  
=0=8<0BL =0 @01>BC  

+2K720BL 8=B5@5A  
 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
to make a choice 
+>ACI5AB28BL 2K1>@  
?>445@6820BL >B=>H5=8я  

2K?>;=яBL 7040GC 
 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
to give up smth 
+>B:070BLAя >B G-;   

?>;CG8BL ?@83;0H5=85 =0 8=B5@2LN  
70?>;=8BL A2>1>4=>5 <5AB> 
 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
résumé 
:20;8D8:0F8я   

>B45; :04@>2    

+0=:5B0  
 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
1OBP C4>2;5B2>@5==O< 
+to feel good about smth  

to interest 

to maintain relations  

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
?@5B5=45=B, A>8A:0B5;P 
career 

employer 

+applicant  

 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
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2O?>;=яBP 7040GC 
career 

+to perform a task  

to make choice 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
?>43>B>2;5==>ABP 
+qualification  

CV 

employment 

 

�O59D<F9 CD46<?PAO= 64D<4AF C9D96B84 (B8<A 64D<4AF BF69F4) 
?@028;P=O9, B>G=O9 
potential     

+proper    

Aompetent 

 
�O59D<F9 E?B6B, >BFBDB9 A9 6IB8<F CB E@OE?G 6 84AAO= Dя8 E?B6 (B8<A 64D<4AF BF69F4):  
correct   

proper   

+competent  

suitable 

 

�O59D<F9 E?B6B, >BFBDB9 A9 6IB8<F CB E@OE?G 6 84AAO= Dя8 E?B6 (B8<A 64D<4AF BF69F4):  
to interest   

to concern   

+to add   

to inquire 

 

�O59D<F9 E?B6B, >BFBDB9 A9 6IB8<F CB E@OE?G 6 84AAO= Dя8 E?B6 (B8<A 64D<4AF BF69F4):  
specific   

particular   

concrete   

+general 

 

�O59D<F9 E?B6B, >BFBDB9 A9 6IB8<F CB E@OE?G 6 84AAO= Dя8 E?B6 (B8<A 64D<4AF BF69F4):  
+career   

personnel   

employers   

staff 

 

�O59D<F9 E?B6B, >BFBDB9 A9 6IB8<F CB E@OE?G 6 84AAO= Dя8 E?B6 (B8<A 64D<4AF BF69F4):  
  gain   

+give up   

to get   

to obtain 

 

�O59D<F9 E?B6B 8?я EBEF46?9A<я E?B6BEBK9F4A<я (B8<A 64D<4AF BF69F4) 
to make … 

+career     

relations   

qualification  
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�O59D<F9 E?B6B 8?я EBEF46?9A<я E?B6BEBK9F4A<я (B8<A 64D<4AF BF69F4) 
to assess your … 

+interests and abilities     

tasks and duties   

employers and employees  

 

�O59D<F9 E?B6B 8?я EBEF46?9A<я E?B6BEBK9F4A<я (B8<A 64D<4AF BF69F4) 
to gain … 

career     

+an interview     

a task 

�O59D<F9 E?B6B 8?я EBEF46?9A<я E?B6BEBK9F4A<я (B8<A 64D<4AF BF69F4) 
to maintain … 
qualification     

CV     

+good relations  

 
�O59D<F9 E?B6B 8?я EBEF46?9A<я E?B6BEBK9F4A<я (B8<A 64D<4AF BF69F4) 
to perform … 
+tasks       

rézumé    

potential 

 

 #B859D<F9 CB8IB8ящ<= 64D<4AF (A9E>B?P>B 64D<4AFB6 BF69F4):  
CAREER is …  
+something that include many separate jobs  

buying cheap goods 

+choices of occupation  

+includes the work one enjoy  and feel good about  

+includes the work one doesn9t enjoy  
selling out goods with profit 

 

 5B>48:0 ?@>2545=8я :>=B@>;я 
#0@0<5B@O <5B>48:8 �=0G5=85 ?0@0<5B@0 

�>;8G5AB2> >F5=>: G5BK@5 
!0720=8я >F5=>: >B;8G=>, E>@>H>, C4>2;5B2>@8B5;L=>, =5-

C4>2;5B2>@8B5;L=> 
#>@>38 >F5=>: 4> 16 >B25B>2 (2:;NG8B5;L=>) – =5C4>2;5-

B2>@8B5;L=> 
17 - 27 >B25B>2 – C4>2;5B2>@8B5;L=> 
28 - 31 >B25B>2 – E>@>H> 
32 - 34 >B25B>2 – >B;8G=> 

#@545; 4;8B5;L=>AB8 2A53> :>=B@>;я 30 <8=CB 
#@545; 4;8B5;L=>AB8 >B25B0 =0 :064K9 2>-
?@>A 

!5B 

#>A;54>20B5;L=>ABL 2K1>@0 @0745;>2 !5B  
#>A;54>20B5;L=>ABL 2K1>@0 2>?@>A>2 %;CG09=0я 
#@54;0305<>5 :>;8G5AB2> 2>?@>A>2 87 >4=>3> 
:>=B@>;8@C5<>3> @0745;0 (B5<K) 34 

#@54;0305<>5 :>;8G5AB2> 2>?@>A>2 34 
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3. �=48284C0;P=O5 7040=8я (CB <FB74@ E4@BEFBяF9?PAB7B <;GK9A<я @4F9D<4?4) 
3.1. �4CB?A9A<9 �!�Е&Ы.  
3.2. %BEF46?9A<9 CV 
�@8B5@88 >F5=:8 ;5:A8G5A:8E 48:B0=B>2 

#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 7=0=85 45;>2>9 ;5:A8-
:8: :;8H5 8 CAB>9G82KE 2K@065=89 4;я 045:20B=>9 <56:C;LBC@=>9 :><<C=8:0F88 =0 0=-
3;89A:>< я7K:5 =0 >1I51KB>2K5, 0:045<8G5A:85 8 ?@>D5AA8>=0;L=K5 B5<K, B5@<8=>;>388 ?> 
A?5F80;L=>AB8. 
 
4. �>=B@>;P=0я @01>B0. �545=85 45;>2>9 ?5@5?8A:8. 
 

1. %>>B=5A8B5 0=3;>-@CAA:85 M:2820;5=BK =0720=89 G0AB59 ?8AL<0  

English  %>>B25BAB285  $CAA:89 

The letterhead  1  a A0< B5:AB 
The date 2  b 2=CB@5==89 04@5A 
Addressee9s name and ad-
dress 

3  c 70:;NG8B5;L=0я D>@<C;0 
256;82>AB8 

The salutation 4  d 25@E=яя G0ABL ?8AL<0 
(«H0?:0»)  

The message 5  e ?>4?8AL 
The complementary close 6  f 40B0 
Signature 7  g ?@825BAB285 

 

2. %>>B=5A8B5 =0720=8я G0AB59 ?8AL<0 8 8E >?8A0=85 

English  %>>B25BAB285  $CAA:89 

The letterhead 1 c a 70:;NG8B5;L=0я D>@<C;0 256;82>AB8.  
The date 2 d b #5@2K9 0170F >A=>2=>3> B5:AB0 =0G8=05BAя A 

?@54;>65=8я, 2 :>B>@>< 2K ?>4B25@6405B5 ?>-
;CG5=85 ?8AL<0 >B 20H53> :>@@5A?>=45=B0, 8;8 
A> AAK;:>9 =0 ?>ABC?82H55 ?8AL<>.  
�;я B>3>, GB>1K G8B0B5;L A@07C ?>=я;, > G5< 
?>945B @5GL, ?>A;5 2ABC?8B5;L=>3> >1@0I5=8я 
>1KG=> 405BAя >D4F>B9 G>4;4A<9 =0 >1I55 EB-
89D:4A<9 C<EP@4. +0I5 2A53> ?5@54 MB8< C:0-
70=85< C?>B@51;яNBAя A;54CNI85 A>:@0I5-
=8я:  
Re – A>:@0I5=85 >B ;0B8=A:>3> 2K@065=8я «in 
re» - ?> 45;C  
Subject - B5<0  
Conc – A>:@0I5=85 >B 0=3;89A:>3> 
«concerning» - :0A0B5;L=>  
"1KG=> >1J5< 45;>2>3> ?8AL<0 =5 ?@52KH05B 
>4=C AB@0=8FC. !>, 5A;8 >1J5< ?8AL<0 1>;LH5 
>4=>9 AB@0=8FK 8 53> ?@>4>;65=85 =0?5G0B0=> 
=0 >1@0B=>9 AB>@>=5 ;8AB0, B> ?8H5BAя p.t.o., 

GB> >7=0G05B Please Turn Over (%<>B@8B5 =0 
>1>@>B5).  

Addressee9s name 
and address 

3 f c A>45@68B 8=D>@<0F8N > 40==KE 20H59 D8@-
<K.  
�064>5 45;>2>5 ?8AL<> ?5G0B05BAя =0 C65 70-
3>B>2;5==>< D8@<5==>< 1;0=:5. � 25@E=59 
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G0AB8 1;0=:0 @07<5I05BAя ;47B?B6B>. "1KG=> 2 
703>;>2:5 40=K A;54CNI85 A2545=8я:  
- 70@538AB@8@>20==>5 =0720=85 :><?0=88 (the 

registered company name and address) 

- :@0B:85 A2545=8я >1 55 45яB5;L=>AB8 (some-

data about the company, including its logo)  

- :>=B0:B=0я 8=D>@<0F8я (company9s contacts)  
The salutation 4 g d "=0 AB028BAя =5A:>;L:8<8 AB@>G:0<8 =865 

«H0?:8»  
%CI5AB2C5B =5A:>;L:> A?>A>1>2 5ё =0?8A0=8я, 
1C4LB5 2=8<0B5;L=K, 745AL ;53:> 4>?CAB8BL 
>H81:C.  
#@8 =0?8A0=88 5ё  65;0B5;L=> =5 8A?>;L7>20BL 
A>:@0I5=8я 8;8 F8D@>2K5 >1>7=0G5=8я 

The message 5 b e - ?>4?8AL. �0: =5 ?0@04>:A0;L=> 72CG8B, 3;02-
=>5 – 20H0 ?>4?8AL. !0 �0?045 3;02=>5 – 20H0 
?>4?8AL ?>4 2A5<, GB> 1K;> =0?8A0=> 2KH5. 
�0H 04@5A, B5;5D>= (D0:A) 8 20H0 ?>4?8AL F5-
=яBAя C =8E ?@52KH5 2A5E =0H8E ?5G0B59.  

The complemen-

tary close 

6 a f 2=CB@5==89 04@5A. )>BL 04@5A 20H53> ?0@B=5@0 
5ABL =0 :>=25@B5, B5< =5 <5=55, >= >1я70B5;L=> 
C:07K205BAя 8 2 ?8AL<5.  

Signature 7 e g ?@825BAB285: � ?5@2>9 AB@>:5 04@5A0 ?8H5BAя 
8<я 8 D0<8;8я ?>;CG0B5;я, 5A;8 >=8 20< 87-
25AB=K. #5@54 8=8F80;0<8 >1KG=> AB028BAя 
D>@<0 256;82>3> >1@0I5=8я. #>A;5 =53> <>-
3CB ?8A0BLAя 8<я D0<8;8я :>@@5A?>=45=B0 8;8 
53> 8=8F80;K 8 D0<8;8я, =>, =8 2 :>5< A;CG05, 
=5 >4=0 D0<8;8я. 

 
3. �?8H8B5 ?@028;P=O5 703>;>2:8 (#@>AL10 /#5@540G0 8=D>@<0F88 /%>>1I5=85 ?;>E8E 
=>2>AB59/ �KA:07K20=85 1;03>40@=>AB8 70 ?@>я2;5==K9 8=B5@5A/ ':070=85 ?@8G8= =0?8A0=8я 
?8AL<0/  "1@0I5=85/ #@8;>65=85 : ?8AL<C 4>?>;=8B5;L=KE <0B5@80;>2/ #>4?8AL/ �ABC?;5-
=85, ?@54K4CI55 >1I5=85/ %>3;0H5=85 A CA;>28я<8/ #5@5E>4 : 4@C3>9 B5<5/ �>?>;=8B5;L-
=K5 2>?@>AK/ #@54;>65=85 A2>59 ?><>I8/ !0?><8=0=85 > =0<5G5==>9 2AB@5G5 8;8 >6840=85 
>B25B0) 
 

 
1. ??? 

Dear Sirs, Dear Sir or Madam (5A;8 20< =5 8725AB=> 8<я 04@5A0B0) 

Dear Mr, Mrs, Miss or Ms  

(5A;8 20< 8725AB=> 8<я 04@5A0B0; 2 B>< A;CG05 
:>340 2K =5 7=05B5 A5<59=>5 ?>;>65=85 65=-
I8=K A;54C5B ?8A0BL Ms, 3@C1>9 >H81:>9 я2-
;я5BAя 8A?>;L7>20=85 D@07K <Mrs or Miss=)  

Dear Frank,  (� >1@0I5=88 : 7=0:><><C G5;>25:C) 
 
2.  ??? 

Thank you for your e-mail of (date)& %?0A81> 70 20H5 ?8AL<> >B (G8A;0) 
Further to your last e-mail& "B25G0я =0 20H5 ?8AL<>& 

I apologise for not getting in contact with you be-

fore now& 

/ ?@>HC ?@>I5=8я, GB> 4> A8E ?>@ =5 =0?8A0; 
20<& 

Thank you for your letter of the 5th of March.  %?0A81> 70 20H5 ?8AL<> >B 5  0@B0 
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With reference to your letter of 23rd March "B=>A8B5;L=> 20H53> ?8AL<0 >B 23  0@B0 
With reference to your advertisement in «The 
Times» "B=>A8B5;L=> 20H59 @5:;0<K 2 &09<A 

 
3  ??? 

I am writing to enquire about / ?8HC 20<, GB>1K C7=0BL& 

I am writing to apologise for / ?8HC 20<, GB>1K 8728=8BLAя 70& 

I am writing to confirm / ?8HC 20<, GB> 1K ?>4B25@48BL& 

I am writing in connection with / ?8HC 20< 2 A2я78 A & 

We would like to point out that&  K E>B5;8 1K >1@0B8BL 20H5 2=8<0=85 =0 ...  
 
4.  ??? 

Could you possibly& !5 <>3;8 1K 2K& 

I would be grateful if you could & / 1K; 1K ?@87=0B5;5= 20<, 5A;8 1K 2K ... 
I would like to receive / 1K E>B5; ?>;CG8BL&& 

Please could you send me& !5 <>3;8 1K 2K 2KA;0BL <=5& 

 
5.  ??? 

I would be delighted to & / 1K; 1K @04 ... 
I would be happy to / 1K; 1K AG0AB;82& 

I would be glad to / 1K; 1K @04& 

 
6.  ??? 

Unfortunately & � A>60;5=8N& 

I am afraid that & �>NAL, GB>& 

I am sorry to inform you that  =5 Bя65;> A>>1I0BL 20<, => & 

We regret to inform you that& 
� A>60;5=8N, <K 2K=C645=K A>>1I8BL 20< 
>& 

 
7.  ??? 

We are pleased to enclose ...  K A C4>2>;LAB285< 2:;04K205<& 

Attached you will find ... � ?@8:@5?;5==>< D09;5 2K =0945B5... 
We enclose ...  K ?@8;0305<& 

Please find attached (for e-mails) �K =0945B5 ?@8:@5?;5==K9 D09;& 

 
8.  ??? 

Thank you for your letter of %?0A81> 70 20H5 ?8AL<> 
Thank you for enquiring  %?0A81> 70 ?@>я2;5==K9 8=B5@5A& 

We would like to thank you for your letter of ...  K E>B5;8 1K ?>1;03>40@8BL 20A 70& 

 
9.  ??? 

We would also like to inform you ...  K B0: 65 E>B5;8 1K A>>1I8BL 20< >& 

Regarding your question about ... "B=>A8B5;L=> 20H53> 2>?@>A0 >& 

In answer to your question (enquiry) about ... � >B25B =0 20H 2>?@>A >& 

I also wonder if&  5=я B0:65 8=B5@5AC5B& 

 
10.  ??? 

I am a little unsure about& / =5<=>3> =5 C25@5= 2 & 

I do not fully understand what& / =5 4> :>=F0 ?>=я;& 



 11 

Could you possibly explain& !5 <>3;8 1K 2K >1JяA=8BL& 

 
11.  ??? 

I9m writing to let you know that& / ?8HC, GB>1K A>>1I8BL > & 

We are able to confirm to you&  K <>65< ?>4B25@48BL & 

I am delighted to tell you that&  K A C4>2>;LAB285 A>>1I05< > & 

We regret to inform you that& 
� A>60;5=8N, <K 2K=C645=K A>>1I8BL 20< 
>& 

 
12.  ??? 

Would you like me to&?  >3C ;8 я (A45;0BL)&? 
If you wish, I would be happy to& �A;8 E>B8B5, я A @04>ABLN& 

Let me know whether you would like me to& %>>1I8B5, 5A;8 20< ?>=04>18BAя <>я ?><>IL. 
 
13. ??? 

I look forward to ... / A =5B5@?5=85< 64C, 
hearing from you soon :>340 A<>3C A=>20 CA;KH0BL 20A 
meeting you next Tuesday 2AB@5G8 A 20<8 2 A;54CNI89 �B>@=8: 
seeing you next Thursday 2AB@5G8 A 20<8 2 +5B25@3 
 
14.  ??? 

Kind regards, % C2065=85<& 

Yours faithfully, 
�A:@5==5 �0H, (5A;8 8<я G5;>25:0 �0< =5 87-
25AB=>) 

Yours sincerely, (5A;8 8<я �0< 8725AB=>) 
�@8B5@88 >F5=:8 B5AB>2OE 7040=89. 

#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 2;045=85 =5<5F:8< 
я7K:><, 7=0=85 ;5:A8:8 >1I53> 8 ?@>D5AA8>=0;L=>3> E0@0:B5@0, C<5=85 A?@028BLAя A @5G52>9 
7040G59, 2;045=85 =081>;55 C?>B@518B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я A>2@5-
<5==>9 ?8AL<5==>9 :><<C=8:0F88 =0 0=3;89A:>< я7K:5. 
4.  >=>;>3 
#>43>B>2PB5 A>>1I5=85 ?> B5<5: 
1. The sectors one can make a career in. 

2. How to make a career. 

3. What you should know about employers 

 
�@8B5@88 >F5=:8 ;5:A8G5A:8E 48:B0=B>2 

#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 7=0=85 45;>2>9 ;5:A8-
:8: :;8H5 8 CAB>9G82KE 2K@065=89 4;я 045:20B=>9 <56:C;LBC@=>9 :><<C=8:0F88 =0 0=-
3;89A:>< я7K:5 =0 >1I51KB>2K5, 0:045<8G5A:85 8 ?@>D5AA8>=0;L=K5 B5<K, B5@<8=>;>388 ?> 
A?5F80;L=>AB8. 
II.  
Scientific Reading and Speaking  (+B5=85 8 >1AC645=85 =0CG=OE B5:AB>2 ). 
1. "?@>A ?> 107>2O< B5:AB0< @0745;0 ?> 0A?5:B0<:  
- (1.1) D>=5B8G5A:>5 GB5=85; 
- (1.2) 0=0;8B8G5A:>5 GB5=85 (&5:ABK 1 – 3); 

- (1.3) CAB=>5 A>15A54>20=85 (?> B5:AB0< 1 – 3) 

 

(1.2) �A4?<F<K9E>B9 KF9A<9  
#D< BJ9A<64A<< GK<FO649FEя GDB69AP 6?489A<я @47<EFD4AFB@ 54;B6O@< 7D4@@4F<K9E><@< 
>BAEFDG>J<я@< <  ?9>E<>B=, I4D4>F9DAO@< 8?я B5щ9A4GKAB= < A4GKAB= F9@4F<><. Е7B ECB-
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EB5ABEFP CBAяFP EB89D:4A<9 F9>EF4 EB E?B64D9@ <?< 59;, 489>64FAB <AF9DCD9F<DB64FP 
@4F9D<4?, 6OK?9A<FP 7?46AB9 < 6FBDBEF9C9AAB9, GEF4AB6<FP <@9Nщ<9Eя 6;4<@BE6я;<.  
(1.2.1) ЧF9A<9 E CB?AO@ CBA<@4A<9@ EB89D:4A<я (<;GK4Nщ99) 
 (1.2.2) ЧF9A<9 E CBA<@4A<9@ BEAB6AB7B EB89D:4A<я CDBK<F4AAB7B (B;A4>B@<F9?PAB9) 
 (1.2.3) ЧF9A<9 E A4IB:89A<9@ <AF9D9EGNщ9= <?< AG:AB= <AHBD@4J<< (CDBE@BFDB6B9) 
�@8B5@88 >F5=:8 ;5:A8G5A:8E 48:B0=B>2 

#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 7=0=85 45;>2>9 ;5:A8-
:8: :;8H5 8 CAB>9G82KE 2K@065=89 4;я 045:20B=>9 <56:C;LBC@=>9 :><<C=8:0F88 =0 0=-
3;89A:>< я7K:5 =0 >1I51KB>2K5, 0:045<8G5A:85 8 ?@>D5AA8>=0;L=K5 B5<K, B5@<8=>;>388 ?> 
A?5F80;L=>AB8. 
 

- (1.3) 'EFAB9 EB59E98B64A<9. 
(1.3.1) &5:AB 1 The Theory of Knowledge. (From Albert Einstein’s letter of 1916) 
1.Do you think the questions suggested in paragraph 1 were posed by Albert Einstein ? Give your 

reasons to conform your opinion. 

2. What opinion is expressed in paragraph 1? Why couldn9t Albert Einstein share that opinion? 

3. Why do you think the questions posed by Albert Einstein in paragraph 3 burningly interested him?  

4. <Scientific progress is impossible without being concerned with the theory of knowledge.= Agree 
or disagree. 

 

(1.3.2) Text 2. What Can Computers Do? (Neville Holms, University of Tanzania) 

1. What is the author9s reason for choosing such a preface to his article?  
2. Why does Neville Holms refer readers with concerns about computers and social inequities? 

3. What, in your opinion, is the social role of computers?   

4. Why does the author stick to the idea that <the computers cannot make us fool=? 
5. Neville Holms distinguishes between such terms as <storage= and <memory=. Why?  
 
(1.3.3) &5:AB 3. Science and Society in the USA. 

1. Are there statements in the text that you disagree with? What are they? 

2. Are you aware of the latest in your field of science? What are they? 

3. Why do you think the achievements of science are not sufficient to ensure adequate support for 

science?  

4. If you were in power what would you to do to support science in Russia? 

 
�@8B5@88 >F5=:8 CG0AB8я 2 15A545 ?> B5<5: 

#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя A?>A>1=>ABL ?@8<5-
=яBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E=>;>388, 2 B>< G8A;5 2 CAB=>9 15A545 =0 0=3;89A:>< 
я7K:5 4;я 0:045<8G5A:>3> 8 ?@>D5AA8>=0;L=>3> 2708<>459AB28я, 0=0;878@>20BL 8 CG8BK20BL 
@07=>>1@0785 :C;LBC@ 2 ?@>F5AA5 <56:C;LBC@=>3> 2708<>459AB28я. %BC45=B 4>;65= ?>:070BL 
7=0=85 ;5:A8:8 >1I53> 8 B5@<8=>;>38G5A:>3> E0@0:B5@0 8 =>@< @5G52>3> MB8:5B0 4;я B>3>, 
GB>1K =0G8=0BL, 25AB8, ?>445@6820BL 8 70:0=G820BL 480;>3-@0AA?@>A, 480;>3->1<5= <=5=8я-
<8, C<5=85 2>A?@8=8<0BL =0 A;CE, CG0AB2>20BL 2 >1AC645=88 >?@545;5==>9 B5<K, 2;045=85 
=081>;55 C?>B@518B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я CAB=>9 @5G8.  
 
2. �80;>3. 
�484A<9: ?@>G8B0BL &5:AB 4 (�<B7D4H<я < A4GKAB-CD9CB8464F9?PE>4я 89яF9?PABEFP @4F9@4-
F<>4 &B@4E4 �. Х4?4, GK9AB7B-@4F9@4F<>4), ?@54;>68BL 703;0285. "1AC48BL A ?0@B=5@><. 

�@8B5@88 >F5=:8 CG0AB8я 2 15A545 ?> B5<5: 
#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя A?>A>1=>ABL ?@8<5-

=яBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E=>;>388, 2 B>< G8A;5 2 CAB=>9 15A545 =0 0=3;89A:>< 
я7K:5 4;я 0:045<8G5A:>3> 8 ?@>D5AA8>=0;L=>3> 2708<>459AB28я, 0=0;878@>20BL 8 CG8BK20BL 
@07=>>1@0785 :C;LBC@ 2 ?@>F5AA5 <56:C;LBC@=>3> 2708<>459AB28я. %BC45=B 4>;65= ?>:070BL 
7=0=85 ;5:A8:8 >1I53> 8 B5@<8=>;>38G5A:>3> E0@0:B5@0 8 =>@< @5G52>3> MB8:5B0 4;я B>3>, 
GB>1K =0G8=0BL, 25AB8, ?>445@6820BL 8 70:0=G820BL 480;>3-@0AA?@>A, 480;>3->1<5= <=5=8я-
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<8, C<5=85 2>A?@8=8<0BL =0 A;CE, CG0AB2>20BL 2 >1AC645=88 >?@545;5==>9 B5<K, 2;045=85 
=081>;55 C?>B@518B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я CAB=>9 @5G8.  
 
&01;8F0 3 – �@8B5@88 >F5=:8 AD>@<8@>20==>AB8 :><?5B5=F89  

�>4 8 =08<5=>20=85 8=48:0B>@0 4>AB865=8я 
:><?5B5=F88  

(G0AB8 :><?5B5=F88) 

�@8B5@88 >F5=820=8я AD>@<8@>20==>AB8 
:><?5B5=F88 (G0AB8 :><?5B5=F88) 
A>>B25BAB2C5B >F5=:5 «70GB5=>» 

50-100% >B <0:A8<0;L=>3> 10;;0 

'�- 4.1 �5<>=AB@8@C5B 8=B53@0B82=K5 C<5-
=8я, =5>1E>48<K5 4;я =0?8A0=8я, ?8AL<5=-
=>3> ?5@52>40 8 @540:B8@>20=8я @07;8G=KE 
0:045<8G5A:8E B5:AB>2 (@5D5@0B>2, MAA5, >1-

7>@>2, AB0B59 8 B.4.) 
'�-4.2. #@54AB02;я5B @57C;LB0BK 0:045<8-
G5A:>9 8 ?@>D5AA8>=0;L=>9 45яB5;L=>AB8 =0 
@07;8G=KE <5@>?@8яB8яE, 2:;NG0я <564C-

=0@>4=K5 
'�-4.3. �5<>=AB@8@C5B 8=B53@0B82=K5 C<5-
=8я, =5>1E>48<K5 4;я MDD5:B82=>3> CG0-
AB8я 2 0:045<8G5A:8E 8 ?@>D5AA8>=0;L=KE 

48A:CAA8яE 

%BC45=B ?>:07K205B E>@>H85 7=0=85 8 ?>-
=8<0=85 B5<K <>4C;я: 7=05B =0AB>яI55 2@5-
<я A8;L=KE 8 A;01KE 3;03>;>2, ?>@я4>: 

A;>2, >B@8F0=85, ?>25;8B5;L=>5 =0:;>=5=85, 
@07;8G05B 8 C<55B C?>B@51;яBL 3;03>;K, ?>-
GB8 =5 4>?CA:05B >H81>: 2 ?>AB@>5=88 CAB-
=>9 8 ?8AL<5==>9 @5G8, 45<>=AB@8@C5B 8=-
B53@0B82=K5 C<5=8я, =5>1E>48<K5 4;я 
=0?8A0=8я, ?8AL<5==>3> ?5@52>40 8 @540:-
B8@>20=8я @07;8G=KE 0:045<8G5A:8E B5:-
AB>2, CG0AB8я 2 0:045<8G5A:8E 8 ?@>D5AA8>-
=0;L=KE 48A:CAA8яE, <>65B ?@54AB02;яBL 
@57C;LB0BK 0:045<8G5A:>9 8 ?@>D5AA8>-
=0;L=>9 45яB5;L=>AB8 =0 @07;8G=KE <5@>-
?@8яB8яE, A?>A>15= =0 107>2>< C@>2=5 >AC-
I5AB2;яBL A1>@, >1@01>B:C, 0=0;87 8 A8AB5-
<0B870F8N =0CG=>-B5E=8G5A:>9 8=D>@<0-
F88, >B5G5AB25==>3> 8 70@C156=>3> >?KB0 =0 

8=>AB@0==>< я7K:5 
 
�B8G?P 2. �5;>2O5 1C<038 A2я70==O5 A CG51=>9 8 ?@>D5AA8>=0;P=>9 45яB5;PABPR  
 
I.  
1. "?@>A ?> 107>2O< B5:AB0< @0745;0 ?> 0A?5:B0<:  
- (1.1) D>=5B8G5A:>5 GB5=85; 
- (1.2) CAB=K9 ?5@52>4 A> A;>20@5<; 
- (1.3) 0=0;8B8G5A:>5 GB5=85 
(1.2) 'EFAO= C9D96B8 EB E?B64D9@ (CB87BFB6?9AAB7B F9>EF4) 
(1.3.1) ЧF9A<9 E CB?AO@ CBA<@4A<9@ EB89D:4A<я (<;GK4Nщ99) 
 (1.3.2) ЧF9A<9 E CBA<@4A<9@ BEAB6AB7B EB89D:4A<я CDBK<F4AAB7B (B;A4>B@<F9?PAB9) 
 (1.3.3) ЧF9A<9 E A4IB:89A<9@ <AF9D9EGNщ9= <?< AG:AB= <AHBD@4J<< (CDBE@BFDB6B9) 

�@8B5@88 >F5=:8 ;5:A8G5A:8E 48:B0=B>2 
#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 7=0=85 45;>2>9 ;5:A8-

:8: :;8H5 8 CAB>9G82KE 2K@065=89 4;я 045:20B=>9 <56:C;LBC@=>9 :><<C=8:0F88 =0 0=-
3;89A:>< я7K:5 =0 >1I51KB>2K5, 0:045<8G5A:85 8 ?@>D5AA8>=0;L=K5 B5<K, B5@<8=>;>388 ?> 
A?5F80;L=>AB8. 
 
2. �>=B@>;P=0я @01>B0 (=0 CA2>5=85 ;5:A8:>-3@0<<0B8G5A:>3> <0B5@80;0 ?> B5<5 «Crop 
Production») 
2.1 Verb forms 

1 20@80=B 
I. #5@52548B5: 
Agriculture, to harvest, yield, fertilizer, practice, variety, to increase, to produce, some, both&and, 
barley, oars, rye, small grains, soil, light, humidity, under conditions, to supply, average, as, field, 

forage, crop, perennial, flax root, seed, pasture, content, to contain, to use, only, field beans, rice, 

tuber, fiber, source, purpose, unlike, mainly. 
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II. !07>28B5 2@5<я 8 70;>3 A:07C5<OE, ?5@52548B5: 
1.In this area higher yields are produced by application of improved irrigation practices. 

2.Wheat as well as barley and rye grow best under cool climatic conditions. 

3.High yields were obtained last year. 

III. � A;54CRI8E ?@54;>65=8яE 2AB02PB5 3;03>; 2 =C6=>< 2@5<5=8 8 70;>35: 
1.This variety&(to develop)some years ago. 
2.Agriculture&(to supply)people with food products. 

3.Next year more food products&(to produce). 
IV. �<5AB> ?@>?CA:>2 C?>B@518B5 A;>20 87 B5:AB0 � 2 A>>B25BAB2CRI59 D>@<5: 
1.Soil humidity is influenced by the average annual& . 
2.Grasses grown for grain belong to & crops. 
3.The growing of a large-seeded legume as a &  &  & is useful for increasing soil fertility. 
V. #5@52548B5 =0 0=3;89A:89 я7O:: 
1. =>385 A5;LA:>E>7я9AB25==K5 >?5@0F88 <5E0=878@>20=K. 
2.#H5=8F0, @>6L, >25A, яG<5=L, A25:;0, :0@B>D5;L @0ABCB ;CGH5 2 ?@>E;04=KE :;8<0B8G5A:8E 
CA;>28яE. 
3.�5@=>2K5 :C;LBC@K, ?@8=04;560I85 : A5<59AB2C 7;0:>2KE, я2;яNBAя 254CI8<8 ?8I52K<8 
:C;LBC@0<8. 

2 20@80=B 
I. #5@52548B5: 
%rop, farm, plant, food, cultural practice, to depend on, quality, different, either&or, corn, potatoes, 
wheat, grass, climate, environment, to require, favourable, to affect, as well as, cultivated (row) crop, 

annual, alfalfa, legume fibrous root, life cycle, soil fertility, to plow under, to complete, to vary (in), 

the only, field peas, root crop, vegetable, to adapt, valuable, throughout the world, for. 

II. !07>28B5 2@5<я 8 70;>3 A:07C5<OE , ?5@52548B5: 
1.Achievements of bilogy are used on many farms. 

2.Agriculturalists of all countries work much at the development of improved crop varieties. 

3.The improved methods of yield increases have been developed and are now being used on our col-

lective farms. 

III. � A;54CRI8E ?@54;>65=8яE 2AB02PB5 3;03>; 2 =C6=>< 2@5<5=8 8 70;>35: 
1.The seed bed preparation&(to follow) by planting the crop. 
2.We&(to begin) a new experiment on our farm next year. 
3.High yield of potatoes&(to obtain) by their having been grown on a good soil. 
IV. �<5AB> ?@>?CA:>2 C?>B@518B5 A;>20 87 B5:AB0 � 2 A>>B25BAB2CRI59 D>@<5: 
1.Crops have either  & or & roots. 
2.Soybeans are the crop having the highest protein & of all farm crops grown. 
3.Plants obtain oxygen and carbon dioxide from the & . 
V. #5@52548B5 =0 0=3;89A:89 я7O:: 
1.%5;LA:>E>7я9AB25==K5 :C;LBC@K @0ABCB E>@>H> , 5A;8 >=8 ?@8A?>A>18;8AL : >:@C60NI59 
A@545. 
2.�;0:>2K5 >B;8G0NBAя >B 1>1>2KE 284>< :>@=59. 
3.�0: ;8ABLя, B0: 8 AB51;8 ;NF5@=K 8A?>;L7CNBAя =0 :>@< A:>BC. 

 
2.2 V-ing forms  
 
2.2.1 #5@525AB8 ?@54;>65=8я: 

1 20@80=B 
�O89?<F9 HBD@O E <-ing=, A4;B6<F9 (CD<K4EF<9, 79DGA8<=, BF7?47B?PAB9 EGщ9EF6<F9?P-
AB9), C9D9698<F9 CD98?B:9A<я A4 DGEE><= я;O>. 
1. We all listened with great interest to the speaker criticizing the new book. 

2. The singing of those beautiful folk songs impressed me greatly. 

3. They were criticizing the government for its failure to limit air pollution at that moment. 

4. I have no objection to your criticizing me. 

5. Criticizing the work of our sports club, he said that it was not satisfactory. 
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6. Do you mind my writing with your pen? 

7. Such doings can hardly be explained. 

8. Lydia could retell the English story she had read without looking into the book. 

9. When we entered the classroom, we saw our students writing at the desks. 

10. Then came a general lighting of pipes and cigars. 

11. Everybody ran to meet the people returning from the city. 

12. At this factory much attention is paid to protecting the health of the workers. 

13. He stopped writing and looked around. 
14. The forest resounded with the hooting of owls and the howling of wolves. 

15. Playing volleyball is a popular sport for young people. 

16. They went home quickly, protecting themselves from the rain by walking under the trees. 

17. It is no use crying over spilt milk. 

18. You don9t know what you miss, not having the desire to listen to good music. 
19. The driving wheel of the machine is broken. 

20. These happenings are remarkable. 

2 20@80=B 
�O89?<F9 HBD@O E <-ing=, A4;B6<F9 (CD<K4EF<9, 79DGA8<=, BF7?47B?PAB9 EGщ9EF6<F9?P-
AB9), C9D9698<F9 CD98?B:9A<я A4 DGEE><= я;O>. 
1. Then came a general lighting of pipes and cigars. 

2. Lydia could retell the English story she had read without looking into the book. 

3. He stopped writing and looked around. 

4. Do you mind my writing with your pen? 

5. Playing volleyball is a popular sport for young people. 

6. I have no objection to your criticizing me. 

7. It is no use crying over spilt milk. 

8. The singing of those beautiful folk songs impressed me greatly. 

9. The driving wheel of the machine is broken. 

10. When we entered the classroom, we saw our students writing at desks. 

11. At this factory much attention is paid to protecting the health of the workers. 

12. Such doings can hardly be explained. 

13. The forest resounded with the hooting of owls and the howling of wolves. 

14. Criticizing the work of our sports club, he said that it was not satisfactory. 

15. Everybody ran to meet the people returning from the city. 

16. We all listened with great interest to the speaker criticizing the new book. 

17. These happenings are remarkable. 

18. You don9t know what you miss, not having the desire to listen to good music. 
19. They went home quickly, protecting themselves from the rain by walking under the trees. 

20. They were criticizing the government for its failure to limit air pollution at that moment. 

 
 
 
2.2.2 �O?>;=8BP 7040=8я: 

�0@80=B 1 
I. #5@52548B5 ?@54;>65=8я , >1@0I0я 2=8<0=85 =0 D>@<O A < –ing= . #>4G5@:=8B5 8 
=07>28B5 (35@C=489, ?@8G0AB85 8;8 =57028A8<O9 ?@8G0AB=O9 >1>@>B): 
1.Being raised under favourable environmental conditions the plants grow and flower well and pro-

duce much seed. 

2.Harvesting small grains with combines is widely used throughout the world. 

3.Having been applied at the due time, fertilizers increased the fertility of the soil. 

4.The growing period of barley is shorter than that of other cereals, this crop producing good yield 

when it is sown in late May. 

5.Using the new method of harvesting, they obtained higher yield of sugar beet. 

6.Rye being drought-resistant, any soil can be used for this crop. 

II. �<5AB> ?@>?CA:>2 2AB02PB5 ?>4E>4яI85 ?> A<OA;C A;>20: 
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1.It is necessary to test & & before the seed is planted. 
2.Obtaining high-quality stand is influenced by both rate and & of seeding. 
3.The aim of & of two or more varieties is obtaining a hybrid of better inherited characteristics. 

III. #5@52548B5 ?@54;>65=8я =0 0=3;89A:89 я7O:: 
1.�064>5 @0AB5=85 A>AB>8B 87 42CE >A=>2=KE G0AB59, MB> :>@5=L 8 =0475<=0я G0ABL. 
2.#5@20я >15A?5G8205B @0AB5=85 2>4>9 8 ?8B0B5;L=K<8 25I5AB20<8. �B>@0я, A>AB>яI0я 87 ;8-
ABL52 8 AB51;59, ?@>872>48B C3;52>4K. 

�0@80=B 2 
I. #5@52548B5 ?@54;>65=8я, >1@0I0я 2=8<0=85 =0 D>@<O A <-ing=. #>4G5@:=8B5 8 =07>-
28B5 (35@C=489, ?@8G0AB85 8;8 =57028A8<O9 ?@8G0AB=O9 >1>@>B): 
1. The planting of warm-season crops should be done into warm soil. 

2. The yield of sugar beet was high due to the farmers9 having controlled weeds during the growing 
season. 

3. Harvesting small grains with combines, man obtains more grain per hectare. 

4. Many plant sciences are used by plant breeders in developing new varieties of crops. 

5. Planting machines being used , a smaller amount of seed is required. 

6. The stem of corn varies greatly in length being 5 to 10 feet. 

II. �<5AB> ?@>?CA:>2 2AB02PB5 ?>4E>4яI85 ?> A<OA;C A;>20: 
1. Winter cereals should withstand fall and spring frosts, that is they should possess & & . 
2. Poor plants may be produced by using & seed. 
3. Each species has its & period. 
III. #5@52548B5 =0 0=3;89A:89 я7O:: 
1. %5<5=0 <>6=> >G8AB8BL >B ?@8<5A59, 8A?>;L7Cя A?5F80;L=K5 <0H8=K. 
2. �064K9 A>@B, 2K2545==K9 4;я 40==KE :;8<0B8G5A:8E CA;>289, >1;0405B >?@545;5==K<8 
?>;57=K<8 ?@87=0:0<8. 
3. %B51;8 1K20NB 42CE 284>2, ?>;K5 8 2K?>;=5==K5. 
 

�$�&�$�� "*�!��: (?8AP<5==0я :>=B@>;P=0я @01>B0) 
"F5=:0 «>B;8G=>» AB028BAя 70 @01>BC, 2K?>;=5==CN 157 >H81>: 8 =54>G5B>2 8;8 8<5NICN 
=5 1>;55 >4=>3> =54>G5B0. "1CG0NI89Aя ?@>45<>=AB@8@>20; 2;045=85 87CG05<K< @0745;>< 
107>2>9 ;5:A8:8 ?@>D5AA8>=0;L=>3> E0@0:B5@0, 7=0=85 3@0<<0B8G5A:8E ?@028; >1@07>20=8я 
3;03>;L=KE D>@< 8 A8=B0:A8G5A:8E :>=AB@C:F89 4;я ?5@540G8 CAB=>9 8 ?8AL<5==>9 8=D>@-
<0F88 ?@>D5AA8>=0;L=>3> E0@0:B5@0 =0 0=3;89A:>< я7K:5, GB> ?>72>;8B 5<C CA?5H=> >AC-
I5AB2;яBL >1I5=85 =0 8=>AB@0==>< я7K:5, A>1;N40я MB8:5B >1<5=0 8=D>@<0F859 =0 ?@>D5A-
A8>=0;L=>< C@>2=5. 
"F5=:0 «E>@>H>» AB028BAя 70 @01>BC ?@8 A>1;N45=88 2A5E 2KH5?5@5G8A;5==KE ?C=:B>2, 
2K?>;=5==CN ?>;=>ABLN, => ?@8 =0;8G88 2 =59:  
0) =5 1>;55 >4=>9 =53@C1>9 >H81:8 8 >4=>3> =54>G5B0,  
1) 8;8 =5 1>;55 42CE =54>G5B>2. 
 "F5=:0 «C4>2;5B2>@8B5;P=>» AB028BAя 2 B>< A;CG05, 5A;8 >1CG0NI89Aя ?@028;L=> 2K?>;-
=8; =5 <5=55 ?>;>28=K @01>BK 8;8 4>?CAB8;:  
0) =5 1>;55 42CE 3@C1KE >H81>:, 
1) 8;8 =5 1>;55 >4=>9 3@C1>9 >H81:8 8 >4=>3> =54>G5B0, 
2) 8;8 =5 1>;55 42CE-B@5E =53@C1KE >H81>:, 
3) 8;8 >4=>9 =53@C1>9 >H81:8 8 B@5E =54>G5B>2, 
4) 8;8 ?@8 >BACBAB288 >H81>:, => ?@8 =0;8G88 4-5 =54>G5B>2. 
 "F5=:0 «=5C4>2;5B2>@8B5;P=>» AB028BAя 2 B>< A;CG05, 5A;8 >1CG0NI89Aя : 

0) ?@028;L=> 2K?>;=8; <5=55 ?>;>28=K @01>BK  
1) ?@>45<>=AB@8@>20; =57=0=85 :0:>3>-;81> 87 87CG05<KE @0745;>2 3@0<<0B8:8, GB> >A;>6-

=8B 2 40;L=59H5< 53> CAB=CN 8 ?8AL<5==CN :><<C=8:0F8N. 
�@8B5@88 >F5=:8 B5AB>2OE 7040=89. 

#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 2;045=85 =5<5F:8< 
я7K:><, 7=0=85 ;5:A8:8 >1I53> 8 ?@>D5AA8>=0;L=>3> E0@0:B5@0, C<5=85 A?@028BLAя A @5G52>9 
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7040G59, 2;045=85 =081>;55 C?>B@518B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я A>2@5-
<5==>9 ?8AL<5==>9 :><<C=8:0F88 =0 0=3;89A:>< я7K:5. 
 

3.  >=>;>3   
#>43>B>2PB5 A>>1I5=85 ?> B5<5: 
«Seed characteristics and treatment». 
- Wheat;  

- Potatoes;  
- Root crops; 

- Advantages of using good quality seeds and methods of sowing. 

  
�@8B5@88 >F5=:8 ;5:A8G5A:8E 48:B0=B>2 

#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 7=0=85 45;>2>9 ;5:A8-
:8: :;8H5 8 CAB>9G82KE 2K@065=89 4;я 045:20B=>9 <56:C;LBC@=>9 :><<C=8:0F88 =0 0=-
3;89A:>< я7K:5 =0 >1I51KB>2K5, 0:045<8G5A:85 8 ?@>D5AA8>=0;L=K5 B5<K, B5@<8=>;>388 ?> 
A?5F80;L=>AB8. 
II.  
Reading and Summarizing Information (+B5=85 8 >1>1I5=85 8=D>@<0F88) 
1. "?@>A ?> 107>2O< B5:AB0< @0745;0 ?> 0A?5:B0<:  
- (1.1) D>=5B8G5A:>5 GB5=85; 
- (1.2) A>15A54>20=85 (>1AC645=85 87CG5==>3> B5>@5B8G5A:>3> <0B5@80;0);  
- (1.3) :>=B@>;L ;5:A8:8. 
 (1.2) B5EG:89A<9 <;GK9AAB7B F9BD9F<K9E>B7B @4F9D<4?4:  
!0?8A0=85 0==>B0F89 8 @5D5@0B>2 =0 0=3;89A:>< я7O:5, A>AB02;5=85 A?8A:0 :;RG52OE 
A;>2, 8A?>;P7C5<OE 2 =0CG=>9 AB0BP5 
1.2.1 �>?@>AO ?> B5<5 «&5>@5B8G5A:85 >A=>2O =0?8A0=8я @5D5@0B0» 
1. +B> <K =07K205< @5D5@0B><? 
2. +B> A>AB02;я5B ACBL @5D5@0B0? 
3. �0:>20 >A=>2=0я 60=@>20я >A>15==>ABL @5D5@0B0?  
4. � G5< A>AB>8B ;5:A8G5A:0я A?5F8D8:0 @5D5@0B0? 
5. �0:>2K A8=B0:A8G5A:85 >A>15==>AB8 @5D5@0B0?  
6. �0: @01>B0BL A :;NG52K<8 A;>20<8 8 A;>2>A>G5B0=8я<8? 
7. �0:>2K ?0@0<5B@K @5D5@0B0?   
8. �0:>2K >A=>2=K5 B@51>20=8я, ?@54Jя2;я5<K5 : A>AB02;5=8N @5D5@0B0? 
9. �7 :0:8E G0AB59, :0: ?@028;>, A>AB>8B @5D5@0B? 
10. �0:>2K ?;0= 8 AB@C:BC@0 @5D5@0B0? 
11. �0:>2 0;3>@8B< A>AB02;5=8я @5D5@0B0? 
 

1.2.2 �>?@>AO ?> B5<5 «&5>@5B8G5A:85 >A=>2O =0?8A0=8я 0==>B0F88» 
1. +B> <K =07K205< 0==>B0F859? 
2. � G5< A>AB>8B >A=>2=>5 >B;8G85 0==>B0F88 >B @5D5@0B0? 
3. �0:>20 >A=>2=0я DC=:F8я 0==>B0F88?  
4. �0:>2K >A=>2=K5 B@51>20=8я, ?@54Jя2;я5<K5 : A>AB02;5=8N 0==>B0F88? 
5. �0:85 B8?K 0==>B0F88 @07;8G0NB? 
6. �0:>20 AB@C:BC@0 0==>B0F88? 
7. �0:>2 0;3>@8B< A>AB02;5=8я 0==>B0F88? 
(1.3) >BAFDB?P ?9>E<>< (�9>E<>B-7D4@@4F<K9E><9 EFDG>FGDO, A9B5IB8<@O9 CD< A4C<E4A<< A4 
4A7?<=E>B@ я;O>9 4AABF4J<< < D9H9D4F4 8?я A4GKAB= EF4FP<). 
 

�@8B5@88 >F5=:8 ;5:A8G5A:8E 48:B0=B>2 
#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 7=0=85 45;>2>9 ;5:A8-

:8: :;8H5 8 CAB>9G82KE 2K@065=89 4;я 045:20B=>9 <56:C;LBC@=>9 :><<C=8:0F88 =0 0=-
3;89A:>< я7K:5 =0 >1I51KB>2K5, 0:045<8G5A:85 8 ?@>D5AA8>=0;L=K5 B5<K, B5@<8=>;>388 ?> 
A?5F80;L=>AB8. 
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1.3.1. #5@525AB8 =0 @CAA:89 я7O::  
A.  

1. The paper reports on & 

2. A careful account is given to & 

3. It is reported that & 

4. The paper claims that & 

5. Much attention is given to & 

6. It is claimed that & 
7. The paper points out that & 

8. The paper deals with the problem of & 

9. The purpose of the research is to & 

10. The paper describes the experiments in detail& 

11. It is reported that & 

12. The research results showed that & 

13. The research has given rise to &  
14. The paper provides the information on & 

15. The paper defines the phenomenon of &  
16. An attempt is made to & 

17. The paper points out &  
18. The paper covers such points as &  
19. Attention is also concentrated on & 

20. The paper is of interest for & 

21. It is recognized that & 

22. The results of  & are presented.  
23. It is found that & 

24. The paper touches upon &  
B.  
1. The article under the title (the name) & is taken from & 

2. It is written by & 

3. The theme of the article is closely connected with title of the article  

4. This article deals with&, is devoted to & 

5. The main u=idea is expressed in the first (the last) paragraph 

6. At the beginning the author describes, explain, introduces, analyses, gives a review of&, com-
ments on, enumerates, points out& 

7. From the article we learn that& 

8. At the end the author comes to the conclusion that & 

9. To my mind (in my opinion)& 

10. As far as I know, understand, remember& 

11. For all I know& 

12. First of all, to began with& 

13. The thing (problem, fact, point) is & 

14. On the one hand&, on the other hand 
15. Summing it up&, on the whole (in short&) 
16. I can9t but agree with the author that& 

17. I9d like to stress the point (the idea) that& 

18. As far as I am concerned I can add the following& 

19. I mean to say& 

20. But I9d like to say a few words in this connection& 

21. As far as I can see& 

22. More than that& 

23. Generally speaking& 

 

C.  
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The article/The paper is about 

The paper suggests the problem& 

The paper discusses&. 
considers& 

examines& 

analyses& 

reports on & 

touches upon& 
The object of the study was 

Much (little) attention is given to& 

The paper puts forward the idea& 

Data on & are discussed 
A comparison of & with& is made 
The methods used for& are discussed 

The study is an attempt to & 

Of particular interest is& 

It is pointed out that& 

It is shown that& 

The paper is of interest& 

The paper is addressed to& 

 

1.3.2. #5@52548B5 ?@54;>65=8я =0 0=3;89A:89 я7O:, 8A?>;L7Cя ?@54;>65=8я A> A:07C5<K< 
2 AB@040B5;L=>< 70;>35, => A ?@я<K< ?>@я4:>< A;>2, >1@0I0я 2=8<0=85 =0 045:20B=>5 >?8A0-
=8N 2@5<я 3;03>;0-A:07C5<>3> 8 53> A<KA;>2>9 M:2820;5=B:   
#D<@9D: 
И;GK49FEя 87>B>=8G5A:89 QHH9>F 2 :@8AB0;;0E. 
The isotopic effect in crystals is studied. 
 
1. ИEE?98B64?<EP (8AA;54>20=O, 5O?< <EE?98B64AO) A2>9AB20 @048>0:B82=KE 
M;5<5=B>2. 
2. �O?4 D4EEK<F4A4 (D4EEK<F4A4) 45D>@<0F8я @5H5B:8, 8 D>@<C;0 8A?>;L7>20=0 4;я 2K-
G8A;5=8я ?0@0<5B@>2. 
3. И;GK49FEя =>20я ?@>1;5<0.  
4. ИEE?98G9FEя  ?@8G8=0 27@K20.  
5. И;GK4?<EP 4@52=85 @C:>?8A8.  
6. �O?B B5E?98B64AB 1>;55 100 1>;L=KE.  
7. ИEE?98B64?< =5A:>;L:> A>548=5=89.  
8.  4EE@4FD<649FEя D>B>M;5:B@8G5A:>5 87;CG5=85. 
9. �C<EO64RFEя 42830B5;8 =>2>3> ?>:>;5=8я.  
10. �5EG:84RFEя :>=AB@C:F8я 8 @01>G85 E0@0:B5@8AB8:8 ?@81>@0. 
11. �C<E4A ?@82>4=>9 <5E0=87<.  
124. И;?B:9AO >A=>2=K5 ?@8=F8?K.  
13.  4EE@BFD9AO 2@5<5==K5 E0@0:B5@8AB8:8 D>B>45B5:B>@>2. 
14. �C<E4AO ?@58<CI5AB20 MB>3> <5B>40.  
15. �B?GK9AO ?@5420@8B5;L=K5 40==K5.  
16. �O?< BCD989?9AO :>MDD8F85=BK 48DDC788.  
17. �5A4DG:9AO @54:85 4>:C<5=BK.  
18. 'EF4AB6?9AB (?>:070=>) =0;8G85 42CE C@>2=59 

19. �5A4DG:9AB, GB> F25B <5=я5BAя ?>4 459AB285< A25B0. 
20. Д9?49FEя 6O6B8 (CD<IB8яF > ;4>?RK9A<R), GB> <>45;L 2?>;=5 A>>B25BAB2C5B 2A5< M:A?5-
@8<5=B0;L=K< 40==K<. 
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21. !89?4A 6O6B8 (;4>?RK9A<9), GB> 87<5=5=85 A?5:B@0 7028A8B >B B5@<8G5A:>9 >1@01>B:8 
>1@07F>2. 
22. �EB5B9 6A<@4A<9 G89?я?BEP :>=F5=B@0F88 D>AD>@0 2 1CD5@=>< @0AB2>@5. 
 

#9D9698<F9 CD98?B:9A<я, B5D4щ4я 6A<@4A<9 A4 E<AF4>E<K9E><9 D4EIB:89A<я:  DGEE><9 B5-
EFBяF9?PEF64 6 4A7?<=E>B@ я;O>9 B>4;O64NFEя CB8?9:4щ<@<. 
#D<@9DO: 
� QFB= EF4FP9 BC<E4AO =>2K5 <5B>4K. The paper describes (discusses) new methods. 
 

23. �4 C?9A>9 EB;849FEя 87>1@065=85.  
24. "?8A0=0 A8AB5<0, 6 >BFBDB= <ECB?P;G9FEя M;5:B@8G5A:89 A?>A>1 45B5:B8@>20=8я. 
 

#9D9698<F9, <ECB?P;Gя A9B5IB8<@O9 8?я ;4>?NK<F9?PAOI CD98?B:9A<= 4AABF4J<= < D9H9-
D4FB6 E?B64 < EBK9F4A<я E?B6:  
25. �O? E89?4A 6O6B8, KFB ?@>2>48<>ABL @-B8?0 2;8я5B =0 C<5=LH5=85 :>=F5=B@0F88. 
26. Д9?49FEя B5щ<= 6O6B8 BFABE<F9?PAB @02=>25A=>9 D>@<K :@8AB0;;>2. 
27. � D9;G?PF4F9 (A4 BEAB64A<<) 87CG5=8я ?>;8B5==KE E@><>A>< 1K;8 A45;0=K ?@0:B8G5-
A:85 2K2>4K. 
28. �D98?4749FEя (D9>B@9A8G9FEя) 5I5 >48= <5B>4 >1@01>B:8. 
29.  9>B@9A8G9FEя =>2K9 <5B>4 >G8AB:8.  
30. �9B5IB8<@B 87CG8BL MB> я2;5=85 1>;55 45B0;L=>. 
31. �9B5IB8<@B, GB>1K MB> я2;5=85 1K;> 87CG5=> 1>;55 45B0;L=>  
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Read the article and make up:  

1. an abstract 

2. a synopsis 

3. the list of keywords. 

 

&5:AB 1. Russian Agricultural and Food Sector in Transition  
Meri Virolainen (Pellervo Economic Research Institute, Finland)  

 

The Russian agricultural and food sector has been faced with major changes for some time. In many 

sectors agricultural production has dropped to about half from the volumes at the turn of the 1990s, 

which is why Russia is one of the greatest food importers in the world today. However, Russia has 

set as an objective to reach self-sufficiency in most agricultural sectors during the next decade. This 

is a highly ambitious objective, because the share of imports in the consumption of foodstuffs is still 

very high. The very big agricultural enterprises engaging mainly in grain production constitute the 

most competitive element of Russian agriculture. In the other extreme there are the household plots 

used for cultivating e.g. potatoes and vegetables and for keeping domestic animals. These plots ac-

count for only 6 per cent of the agricultural land in Russia, but their share in the value of the produc-

tion is about a half. One reason for the significant share of household plots in the value of production 

is the rapid increase in the prices of livestock products.  
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Crop production is the most competitive sector of Russian agriculture. Russia is a net exporter of 

grains. In recent years the average annual grain exports have been about 10 million tonnes, which is 

about 5 per cent of the total grain exports in the world. The exports from Russia are much smaller 

than those of the five largest grain exporters in the world. Russia is striving to become one of the 

five largest exporters, but at present this seems quite unrealistic. The Russian grain sector suffers 

from weaknesses such as quality problems, relatively low yields per hectare and problems in the lo-

gistics. However, there is also a great deal of potential in the sector. Investments in agricultural cor-

porations increase their vertical integration, which is reflected on the farm level as higher quality in-
puts and more modern technology.  

The problems in livestock production appear to be quite serious Milk production has not increased 

much from the level where it fell in the early 1990s. Less than half of the raw milk produced ends up 

in dairies for further processing. According to the forecasts, in the next decade milk production in 

Russia should grow by about 10 per cent and only a little more than half of the production would be 

sent to the dairies. This is still very low compared to the EU countries. Even if the production in 

Russia will be growing, significant quantities of milk products will continue to be imported. For ex-

ample, the import of cheese is expected to almost double during the next decade and butter imports 

should grow as well. In the future cheese imports would account for about half and butter imports for 

about 40 per cent of the total consumption.  

Meat production in Russia has also decreased dramatically from the levels about 15 years ago. Rus-

sia is making serious efforts to increase especially the poultry meat production considerably by 

2010. The objective is to triple the production, but according to international estimates the produc-

tion would grow by about 70 per cent. There is likely to be some decrease in beef production. Russia 

aims to double pork production, but the international forecasts estimate that it will grow by about a 

fifth. At present Russia is clearly a net importer of meat. For example, imports represent clearly 

more than a half of poultry meat consumption. Imported beef represents about a fifth and imported 

pork about a quarter of the consumption. Meat imports are likely to stay high in the future. In fact, 

according to the forecasts the volumes of meat imports should stay on about the same level as they 

are at present. The domestic production is growing, but imports are needed to satisfy the growth in 

the consumption. The share of imports in the total consumption is going to decrease slightly.  

The production of foodstuffs has grown quite well in Russia at a steady pace of about 7 per cent a 

year. However, Russia is far from being self-sufficient in foodstuffs, but it is the largest food import-

er in the world. Foodstuffs represent about a fifth of the total imports. Food imports collapsed as a 

result of the economic crisis in 1998, but in 2001 they were again growing. In 2004 the value of the 

food imports to Russia totalled about 12.5 billion dollars. Of the different countries or groups the 

share of the EU in the food imports to Russia is the largest, about 40 per cent.  

Today it is almost impossible to talk about the Russian agricultural and food sector without mention-

ing the foreign companies and their investments. While food exports to Russia are growing, the in-

vestments of both foreign and domestic food companies have made a significant contribution to the 

development and modernisation of the local industry. It seems that, in fact, most foreign companies 

consider that concentrating only on export operations is insufficient. There is also a need to produce 

locally to secure the market position. Investments are not only directed to the food industry but also 

to the whole food chain all the way to the farm. For example, the French dairy company Danone 

gives out loans for purchasing cooling tanks on farms and offers instruction in milk production to 

obtain high-quality raw material. This is why the investments have very concrete impacts on the 

farm level as well.  

The growth and improvement in the quality of the domestic production does not necessarily reduce 

the need for imported raw material. In certain sectors the need for imports may even grow as the lo-

cal companies are not capable of producing sufficient quantities of certain special inputs and addi-

tives. The reform and reorganisation of basic agricultural production is still far from being complet-

ed, which means that basic foodstuffs such as meat will have to be imported in the future as well.  

Foreign and domestic investments are highly important for the development of the Russian agricul-

tural and food sector, but obviously these do not cover the whole country. In fact, most of the in-

vestments are directed to the Moscow and St Petersburg regions. Thus there is a great deal of agri-

cultural and food production in Russia which has not been influenced by the foreign investments. 
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Because of this there are two very different types of agriculture and food production in the country: 

certain companies invest and attract investments, while the prospects of the others are quite gloomy.  

Today there is a kind of race under way on the Russian market, as the foreign companies are striving 

to get their share of the growing market. The Russian agricultural and food sector has taken im-

portant steps forwards, but there are still serious challenges to be faced. It is in the interest of the 

food industry to find raw material from nearby, but at least during the next decade high quantities of 

imports will also be needed.  

 
�D<@9D CD46<?PAB 6OCB?A9AAB= D45BFO: 

Abstract  
This paper examines current situation in Russian agricultural and food sector and evaluates forth-

coming development. Russia9s agricultural production diminished by half at the beginning of the 
1990s, and since that the production has hardly grown. In fact, Russia is one of the biggest food im-

porters in the world. Particularly in livestock sector the situation is difficult. Number of livestock has 

not grown according to expectations and production does not satisfy domestic demand. Crop hus-

bandry, by contrast, has export potential, but fluctuations in export volumes have been great. Fur-

thermore, quality of grain has not always met standards. Russia9s food industry has grown rapidly in 
the past few years, even though Russia has not reached self-sufficiency. Foreign investments have 

improved quality level of Russia9s food industry. However, food imports will continue in the next 
ten years in bulk food products. For example current meat import volumes will remain more or less 

unchanged. Moreover, import demand of more specialised production inputs will grow.  

Keywords  
Russian agro food sector, dairy sector, meat production, crop husbandry, food industry.  
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I.  
1. "?@>A ?> 107>2O< B5:AB0< @0745;0 ?> 0A?5:B0<:  
- (1.1) D>=5B8G5A:>5 GB5=85; 
- (1.2) CAB=K9 ?5@52>4 A> A;>20@5<; 
- (1.3) 0=0;8B8G5A:>5 GB5=85 
 
 (1.2) 'EFAO= C9D96B8 EB E?B64D9@ (CB87BFB6?9AAB7B F9>EF4) 
 (1.3.1) ЧF9A<9 E CB?AO@ CBA<@4A<9@ EB89D:4A<я (<;GK4Nщ99) 

 (1.3.2) ЧF9A<9 E CBA<@4A<9@ BEAB6AB7B EB89D:4A<я CDBK<F4AAB7B (B;A4>B@<F9?PAB9) 
(1.3.3) ЧF9A<9 E A4IB:89A<9@ <AF9D9EGNщ9= <?< AG:AB= <AHBD@4J<< (CDBE@BFDB6B9) 
�$�&�$�� "*�!��:  
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- 7=0=85 ?@028; :><<C=8:0F88 =0 8=>AB@0==>< я7K:5 4;я 0:045<8G5A:>3> 8 ?@>D5AA8>=0;L-
=>3> 2708<>459AB28я,  
- C<5=85 G8B0BL B5:ABK A> A;>20@5< A F5;LN ?>8A:0 8=D>@<0F88, 2;045=85 =081>;55 C?>B@5-
18B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я ?8AL<5==>9 @5G8,  
- 3>B>2=>ABL 87CG0BL A>2@5<5==K9 >B5G5AB25==K9 8 70@C156=K9 >?KB ?> A?5F80;L=>AB8 =0 
8=>AB@0==>< я7K:5,  
- A?>A>1=>ABL 0=0;878@>20BL 8 CG8BK20BL @07=>>1@0785 :C;LBC@ 2 ?@>F5AA5 >1I5=8я.  
 
 
2. �>=B@>;P CA2>5=8я ;5:A8G5A:>3> <8=8<C<0 8 3@0<<0B8G5A:8E :>=AB@C:F89 

2.1 Test. (>48= 20@80=B >B25B0) 
�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
My chief  says I ______ spend so much time on calls. 
mustn9t  

+shouldn9t  

needn9t  

can9t 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
She’ll be able to come. 
�9 <>6=> ?@89B8. 
�9 ?@8H;>AL ?@89B8. 
+"=0 A<>65B ?@89B8. 
"=0 =5 <>3;0 ?@89B8. 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
I … meet an applicant for a position of a sale manager. 
+have to     

may        

must      

can 

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
He … be in the office, but I can’t find him. 
+must         

may        

able to   
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should  

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
You … go to bed earlier today, tomorrow we are leaving for a business trip rather early. 
+should      

has to      

must      

can 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
They … to learn this report by heart. 
+had to       

were to   

must       

can 

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
He … to meet me at 5 p.m. 
+was  to    

can          

had to     

could 

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
This man …take the function of the top manager while the latter was ill. 
+had to        

could        

was able to         

must 

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
We … to come to the office at 9 yesterday. 
could        

have to       

+were to              

should 

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
I … read English newspapers on managing. 
have to     

may        

+must      

can 

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
This plant … be put into operation next year. 
+is to    

was to    

will be 

should be 

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
They …  get up at 6 o’clock as their working day begins at 8. 
may     
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+have to   

will have to 

has to  

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
Nobody … answer the question. 
was allowed    

must     
+could 

are allowed 

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
Soon we … understand many processes of the social development. 
+shall be able to   

were able    

will have to 

are able to  

 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
We … to use dictionaries during exams. 
was not allowed   

+are not allowed   

have   

can 

 

"CD989?<F9 F<C @B84?PABEF<:  
�K15@8B5 ?@028;L=K9 20@80=B >B25B0: 
He can type 100 words per minute 
request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
+ability (A?>A>1=>ABL) 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  
Would you like a hand with those bags? 

request (70?@>A, ?@>AL10) 
+ an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

She could sell more than all the other salespeople put together. 
request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
+ability (A?>A>1=>ABL) 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

He could program computers in Basic when he was four. 
request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
+ability (A?>A>1=>ABL) 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
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"?@545;8B5 B8? <>40;L=>AB8:  

Could you help me to write this e-mail – my Spanish isn’t very good. 
+request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  
Can I get you something to drink? 

request (70?@>A, ?@>AL10) 
+an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

May I ask a question? 

+request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

Please, would you stop talking – I’m trying to concentrate. 
+request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

They can organize the campaign very quickly. 
request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
+ability (A?>A>1=>ABL) 
 

�@8B5@88 >F5=:8 B5AB>2OE 7040=89 
#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя 2;045=85 =5<5F:8< 

я7K:><, 7=0=85 ;5:A8:8 >1I53> 8 ?@>D5AA8>=0;L=>3> E0@0:B5@0, C<5=85 A?@028BLAя A @5G52>9 
7040G59, 2;045=85 =081>;55 C?>B@518B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я A>2@5-
<5==>9 ?8AL<5==>9 :><<C=8:0F88 =0 0=3;89A:>< я7K:5. 
2.2 �>=B@>;P=0я @01>B0 
2.2.1 The Infinitive.  
2.2.1.1 %;>6=O5 D>@<O 8=D8=8B820. 

1 20@80=B 
I. �9D9698<F9 A4 DGEE><= я;O>, B5D4щ4я 6A<@4A<9 A4 HBD@O <AH<A<F<64. 
1. To play chess was his greatest pleasure. 

2. Isn9t it natural that we like to be praised and don9t like to be scolded? 
3. Nature has many secrets to be discovered yet. 

4. He must be working in the garden. 

5. This is the book to be read during the summer holidays. 

6. He is very forgetful, but he doesn9t like to be reminded of his duties. 
7. The child was happy to have been brought home. 

8. Maggie was very sorry to have forgotten to feed the rabbits. 

9. Sorry not to have noticed you. 

10. I am very happy to have had the pleasure of making your acquaintance. 
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11. I remembered to have been moved by the scene I witnessed. 

12. I am glad to have been speaking to you. 

II.    4E>DB=F9 E>B5><, GCBFD95?яя FD95GRщGREя HBD@G <AH<A<F<64. 
1. He seems (to read) a lot. 

2. He seems (to read) since morning. 

3. I want (to take) you to the concert. 

4. She hoped (to help) by her friends. 

5. He seems (to read) now. 
6. He seems (to read) all the books in the library. 

7. He is glad (to help) with his health problems. 

8. I want (to take) to the concert by my father. 

III. �9D9698<F9 A4 4A7?<=E><= я;O>, GCBFD95?яя FD95GRщGREя HBD@G <AH<A<F<64. 
1. / @04, GB> @0AA:070; 20< MBC 8AB>@8N. 
2. / @04, GB> <5=я 2AB@5B8;8 =0 AB0=F88. 
3. �5B8 ;N1яB, :>340 8< @0AA:07K20NB A:07:8. 
4. "= 1C45B AG0AB;82 ?>A5B8BL MBC 7=0<5=8BCN :0@B8==CN 30;5@5N. 
5. / E>GC ?>7=0:><8BL 20A A MB>9 0@B8AB:>9. 

2 20@80=B 
I. �9D9698<F9 A4 DGEE><= я;O>, B5D4щ4я 6A<@4A<9 A4 HBD@O <AH<A<F<64. 
1. The child didn9t like to be washed. 
2. Which is more pleasant: to give or to be given presents? 

3. To improve your pronunciation you should record yourself and analyse your speech. 

4. To be instructed by such a very experienced specialist was a great advantage. 

5. This is the book to be read during the summer holidays. 

6. Jane remembered to have been told a lot about Mr. Rochester. 

7. I am awfully glad to have met you. 

8. I am glad to have been speaking to you. 

9. He must be reading a book in his room. 

10. Sorry to have placed you in this disagreeable situation. 

11. The children were delighted to have been brought to the circus.  

12. Sorry not to have noticed you. 

II.  4E>DB=F9 E>B5><, GCBFD95?яя FD95GRщGREя HBD@G <AH<A<F<64. 
1. We expect (to be) back in two days. 

2. The children seem (to play) since morning. 

3. He expected (to help) by the teacher. 

4. I am glad (to do) all the homework yesterday. 

5. He is glad ( to help) with his health problems. 

6. His English seems (to get) better. 

7. I am sorry (to break) your cup. 

8. He seems (to read) now. 

III. �9D9698<F9 A4 4A7?<=E><= я;O>, GCBFD95?яя FD95GRщGREя HBD@G <AH<A<F<64. 

1. / @04, GB> 2AB@5B8; 5ё =0 AB0=F88. 
2.  K >G5=L AG0AB;82K, GB> =0A ?@83;0A8;8 =0 25G5@. 
3. / @04, GB> @01>B0N A 20<8 AB>;L:> ;5B. 
4. / E>GC, GB>1K <5=я ?>7=0:><8;8 A MB>9 0@B8AB:>9. 
5. "= 1C45B AG0AB;82 ?>A5B8BL MBC 7=0<5=8BCN :0@B8==CN 30;5@5N. 
 

2.2.1.2 Infinitive Constructions. Complex Subject & Complex Object   
1 20@80=B 

I. �9D9698<F9 CD98?B:9A<я, EB89D:4щ<9 Complex Subject & Complex Object. 

 

1. He was seen to cross the street. 

2. I saw Peter cross the street. 

3. He is said to be a good pupil. 
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4. I know him to be a good son. 

5. He was thought to be honest and kind. 

6. Only yesterday we happened to see Soames Forsyte. 

7. I don9t like him to be so long alone. 
8. He is likely to make a good teacher. 

9. I just wanted Fleur to see where I lived. 

10. This mountain is said to be the highest in the region. 

II. �9D9HD4;<DG=F9 E?98GRщ<9 CD98?B:9A<я, GCBFD95?яя 4) Complex Subject, 
 b) Complex Object. 

a) 1. It seems they know all about it. 

    2. People consider the climate there to be very healthy. 

    3. It is believed that the poem was written by an unknown soldier. 

    4. It is expected that the performance will be a success. 

    5. It is reported that the flood has caused severe damage to the crops. 

b) 1. I know that my friend is a just man. 

    2. I expect that he will understand your problem and help you to solve it. 

    3. We noticed a man . The man was cleaning his shoes. 

    4. I watched the rain. It was beating down the flowers in the garden. 

    5. I heard him. He shut the door of the study. 

III. �9D9698<F9 A4 4A7?<=E><= я;O>, GCBFD95?яя a) Complex Subject; b) Complex Object. 

0)    1. �>2>@яB, GB> MB> 740=85 1K;> ?>AB@>5=> 2  XVII 25:5. 
       2. #@54?>;030NB, GB> 70A540=85 70:>=G8BAя 2 45AяBL G0A>2. 
       3. #>;030NB, GB> >=8 7=0NB >1 MB>< 1>;LH5, G5< E>BяB ?>:070BL. 
b)    1. / ;N1;N, :>340 45B8 A<5NBAя. 
        2. / @0AAG8BK20N, GB> ?8AL<> ?@84ёB 702B@0. 
        3. 'G8B5;L 70AB028; 5ё ?5@5?8A0BL C?@06=5=85. 

2 20@80=B 
I. �9D9698<F9 CD98?B:9A<я, EB89D:4щ<9 Complex Subject & Complex Object. 

1. Never once had she been seen to cry. 

2. He heard the town clock strike twelve. 

3. The train is reported to have arrived on time. 

4. I believed you to be writing letters in the morning. 

5. She doesn9t seem to want to do anything I suggest. 
6. He is likely to go there. 

7. I prefer him to listen to good music. 

8. She didn9t seem to hear me. 

9. He hated her to ask questions. 

10. You seem to have forgotten your promise. 

II. �9D9HD4;<DG=F9 E?98GRщ<9 CD98?B:9A<я, GCBFD95?яя 4) Complex Subject,  

b) Complex Object. 

a) 1. It is said that the book is popular with both old and young. 

    2. It was supposed that the crops would be rich that year. 

    4. It seems they have heard all about it. 

    5. It happened that I was present at the opening session. 

b) 1. We know that it is true. 

    2. I never expected that he would be a politician. 

    3. She watched the children. They were running and playing in the garden. 

    4. I saw him. He pointed to a picture on the wall. 

    5. He went out. Nobody noticed it. 

III. �9D9698<F9 A4 4A7?<=E><= я;O>, GCBFD95?яя 4) Complex Subject, b) Complex Object. 

a) 1. ":070;>AL, GB> <K C65 345-B> 2AB@5G0;8AL. 
    2. / A;CG09=> 7=0N =><5@ 53> B5;5D>=0. 
    3. "6840NB, GB> >=8 2K83@0NB MB>B <0BG. 
b) 1. "= CA;KH0;, :0: 3>@>4A:85 G0AK ?@>18;8 425=04F0BL. 
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    2. / E>GC, GB>1K 2K ?>H;8 A> <=>9. 
    3. =5 1K E>B5;>AL, GB>1K @01>B0 1K;0 2K?>;=5=0 2 2>A:@5A5=L5. 
 
2.2.2 �5:A8:>-3@0<<0B8G5A:0я :>=B@>;P=0я @01>B0 

1 20@80=B 
     I.�9D9698<F9 E?98GRщ<9 E?B64  < 6OD4:9A<я  A4 DGEE><= я;O>: 
acreage, to exist, habit, to choose, to favour, inch, threshing, frost-free, to hasten, to drain, prompt, to 

secure, to take into consideration, advantage, means, direct combining, extremely, shape, transpira-
tion, water-holding capacity, adequate, vegetative growth, apart, livestock feed, extensive, peat, tol-

erant, to blossom, piece, to be subject to, to sprout,. 

    II. �9D9698<F9 E?98GRщ<9 CD98?B:9A<я E 66B8AO@ <there=: 
1. There should be careful cultivation of corn soon after planting to kill the weeds at the beginning of 

their growth. 

2. There exist many varieties of winter hardy wheat, each of them being adapted to a certain region. 

    III. �9D9698<F9 CD98?B:9A<я EB E?B6B@ <one=: 
1. One cannot grow this crop successfully in areas with high precipitation 

2. Winter rye varieties being grown much more widely, there is only one variety of spring rye grown 

in Russia. 

   IV. �9D9698<F9 CD98?B:9A<я, B5D4щ4я 6A<@4A<9 A4 E?B:AO9 HBD@O <AH<A<F<64: 
1. While rye is very hardy and naturally a plant of cold climate, it does not seem to be affected by 

hot weather. 

2. The seed treatment applied is unlikely to have affected the development of winter wheat. 

3. A number of quick-maturing varieties of corn are reported to have been developed recently for the 

production in northern areas. 

    V. �9D9698<F9 E?98GRщ<9 CD98?B:9A<я, EB89D:4щ<9 <AH<A<F<6AO9 >BAEFDG>J<<: 
1. Many days are known to be required for this crop to become well-rooted. 

2. Heavy textured soils should be well drained for wheat to be grown successfully. 

3. We consider this practice to be useful on sandy loams. 

4. Do you suppose direct combining to be the best means for harvesting wheat? 

    VI. �9D9698<F9 E?98GRщ<9 A9CB?AO9 CD98?B:9A<я: 
1. This plant is said to be affected by cold weather, until well-rooted. 

2. Unless planted deep enough, the corn seed will not have sufficient moisture for rapid growth.  

3. When present in great amounts in the soil, nitrogen is known to cause lodging of most cereals. 

    VII. �9D9698<F9 CD98?B:9A<я, B5D4щ4я 6A<@4A<9 A4 GE<?<F9?PAGR >BAEFDG>J<R <It is 
… that(who) < E?B6B <that=: 
1. It is our agronomist who developed a new variety of rye for our region. 

2. It is a well-planned crop rotation that is considered to be the essential part of any modern farming 

system. 

3. It is recommended that two potato varieties differing in the time of maturity should be grown on 

the same farm. 

4. To obtain the highest yields it is important that both crop rotation and fertilization be used. 

    VIII. �9D9698<F9 E?98GRщ<9 CD98?B:9A<я A4 4A7?<=E><= я;O>: 
1.  K 7=05<, GB> ?H5=8F0 ?;>E> ?@8A?>A>1;5=0 : B5?;><C :;8<0BC. "=0 1C45B E>@>H> @0728-
20BLAя 2 C<5@5==KE 7>=0E A> A@54=8< :>;8G5AB2>< >A04:>2. 
2.!081>;LH89 C@>609 75@=0, :0: ?>;030NB, 7028A8B >B 2K1>@0 ?@028;L=>3> 2@5<5=8 C1>@:8. 
3. #>G25==K5 8 :;8<0B8G5A:85 CA;>28я >?@545;яNB 3;C18=C ?>A04:8. "1KG=0я @5:><5=4C5-
<0я 3;C18=0 – 2-3 4N9<0. 
4. �C4CG8 >G5=L 206=K< 8AB>G=8:>< ?8B0=8я 4;я G5;>25:0, :0@B>D5;L H8@>:> 2>745;K205BAя 
?> 2A5<C <8@C. 

2 20@80=B 
     I. �9D9698<F9 E?98GRщ<9 E?B64 < 6OD4:9A<я A4 DGEE><= я;O>: 
Principal, to prefer, characteristic, cool, precipitation,  to accompany, bread, quick-maturing, to exist, 

free of weeds, to prevail, to conserve, a drill, means, direct combining, row, variable, pound, to be 
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high in, adequate, to manufacture, sunshine, advisable, profitable, muck, acidity, to set, whole, to 

dig, to eliminate, digger. 

    II. �9D9698<F9 E?98GRщ<9 CD98?B:9A<я E 66B8AO@ <there=: 
1. There seems to be no need of applying nitrogenous fertilizers for wheat, when it follows legumes 

in crop rotation. 

2. There may be some difference in preparing a seedbed for wheat, depending on the crop, that 

wheat follows. 

     III. �9D9698<F9 CD98?B:9A<я EB E?B6B@ <one=: 
1. Wheat is known to be one of the main sources of grain in the world. 

2. One must consider many factors in selecting a crop variety to be grown. 

    IV. �9D9698<F9 E?98GRщ<9 CD98?B:9A<я, B5D4щ4я 6A<@4A<9 A4 E?B:AO9 HBD@O <AH<-
A<F<64: 
1. We know the root growth of barley to be less abundant than that of wheat, oats, or rye. 

2. The method of cultivation you speak about is said to have been used by our Experimental Station 

several yeas ago. 

3. They believe him to have obtained this information from our agronomist. 

    V. �9D9698<F9 E?98GRщ<9 CD98?B:9A<я, EB89D:4щ<9 <AH<A<F<6AO9 >BAEFDG>J<<: 
1. Our agronomist is likely to have examined the seeds before sowing. 

2. This soil was found to have been exhausted by the continued growing of the same crop. 

3. This method of seeding seems to result in better stands and uniform maturity. 

4. For prompt germination to occur sufficient moisture should be present. 

    VI. �9D9698<F9 E?98GRщ<9 A9CB?AO9 CD98?B:9A<я: 
1. If included in the rotation, perennial grasses should precede cereals. 

2. When left rough, the soil is in better condition to hold moisture. 

3. Though of the same variety , the seeds may differ greatly in size and quality. 

   VII. �9D9698<F9 CD98?B:9A<я, B5D4щ4я 6A<@4A<9 A4 GE<?<F9?PAGR >BAEFDG>J<R <It is 
… that (who)= < E?B6B <that=: 
1. It is as livestock feed that corn is mainly used for. 

2. It is desirable that manure should be applied in the fall preceding corn planting. 

3. To ensure prompt germination it is necessary that the soil be warm and moist to a considerable 

depth. 

4. It is our agronomist who developed a new variety. 

   VIII. �9D9698<F9 E?98GRщ<9 CD98?B:9A<я A4 4A7?<=E><= я;O>: 
1. #H5=8F0, :0: 8725AB=>, я2;я5BAя A0<>9 206=>9 7;0:>2>9 :C;LBC@>9. 
2.  K A<>65< 7=0G8B5;L=> C;CGH8BL AB@C:BC@C ?>G2K ?>A@54AB2>< MB>3> <5B>40 >1@01>B:8. 
3. %G8B05BAя, GB> >1@01>B:0 :C:C@C7K ?@>872>48BAя 3;02=K< >1@07>< 4;я 1>@L1K A A>@=я:0-
<8. 
4. +B>1K ?@54>B2@0B8BL ?@>@0AB0=85, :0@B>D5;L E@0=яB 2 E>@>H> 25=B8;8@C5<>< ?><5I5=88 
?@8 B5<?5@0BC@5 36-40 F. 

 
�@8B5@88 >F5=:8 ?8AP<5==OE A0<>AB>яB5;P=OE 8 :>=B@>;P=OE @01>B 
#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя A?>A>1=>ABL ?@8<5-

=яBL A>2@5<5==K5 B5E=>;>388, CG8BK20BL <56:C;LBC@=>5 @07=>>1@0785 2 CAB=>9 8 ?8AL<5=-
=>9 :><<C=8:0F88 =0 =5<5F:>< я7K:5, 7=0=85 ;5:A8:8 >1I53> 8 ?@>D5AA8>=0;L=>3> E0@0:B5-
@0, C<5=85 A?@028BLAя A @5G52>9 7040G59, 2;045=85 =081>;55 C?>B@518B5;L=>9 (107>2>9) 
3@0<<0B8:>9, E0@0:B5@=>9 4;я 0=3;89A:>3> я7K:0. 
3.  >=>;>3: 
#>43>B>2PB5 A>>1I5=85 ?> B5<5: 
- Types of pastures.  

- Origin and characteristics of weeds.  

-Weed Science: harmful and beneficial effects of weeds. 

 

�@8B5@88 >F5=:8 CG0AB8я 2 15A545 ?> B5<5: 
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#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя A?>A>1=>ABL ?@8<5-
=яBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E=>;>388, 2 B>< G8A;5 2 CAB=>9 15A545 =0 0=3;89A:>< 
я7K:5 4;я 0:045<8G5A:>3> 8 ?@>D5AA8>=0;L=>3> 2708<>459AB28я, 0=0;878@>20BL 8 CG8BK20BL 
@07=>>1@0785 :C;LBC@ 2 ?@>F5AA5 <56:C;LBC@=>3> 2708<>459AB28я. %BC45=B 4>;65= ?>:070BL 
7=0=85 ;5:A8:8 >1I53> 8 B5@<8=>;>38G5A:>3> E0@0:B5@0 8 =>@< @5G52>3> MB8:5B0 4;я B>3>, 
GB>1K =0G8=0BL, 25AB8, ?>445@6820BL 8 70:0=G820BL 480;>3-@0AA?@>A, 480;>3->1<5= <=5=8я-
<8, C<5=85 2>A?@8=8<0BL =0 A;CE, CG0AB2>20BL 2 >1AC645=88 >?@545;5==>9 B5<K, 2;045=85 
=081>;55 C?>B@518B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я CAB=>9 @5G8.  
 
II.  
Writing Research Papers (!0?8A0=85 =0CG=OE AB0B59, >D>@<;5=85 =0CG=>9 4>:C<5=B0-
F88 ) 
1. "?@>A ?> 107>2O< B5:AB0< @0745;0 ?> 0A?5:B0<:  
- (1.1) D>=5B8G5A:>5 GB5=85; 
- (1.2) CAB=K9 ?5@52>4 A> A;>20@5<; 
- (1.3) CAB=>5 A>15A54>20=85. 
(1.2) 'EFAO= C9D96B8 EB E?B64D9@ (CB87BFB6?9AAB7B F9>EF4) 
 (1.3) 'EFAB9 EB59E98B64A<9 CB F9BD9F<K9E>B@G @4F9D<4?G: A4GKAO= EF<?P, A4C<E4A<9 F9;<-
EB6, A4GKAB= EF4FP<, EBK<A9A<я) 
�>?@>AO ?> B5>@5B8G5A:><C <0B5@80;C: 
1) �09B5 >?@545;5=85 =0CG=>3> AB8;я. 
2) �0:>2K >B;8G8B5;L=K5 G5@BK =0CG=>3> AB8;я? 
3) �0: >D>@<;я5BAя A2я7L G0AB59 B5:AB0? 
4) �09B5 >?@545;5=85 B578A0<? 
5) �0: A>740NBAя >@838=0;L=K5 B578AK?   
6) �0: A>740NBAя 2B>@8G=K5 B578AK, 
7) �0:>20 :><?>78F8я B578A>2? 
8) �0: 2K@0605BAя 2708<>A2я7L <564C >B45;L=K<8 B578A0<8? 
9) �0: >D>@<;яNBAя B578AK 3;03>;L=>3> 8 =><8=0B82=>3> AB@>я? 
10) +B> 5ABL =0CG=0я AB0BLя? 
11) �0:>2K >A=>2=K5 G0AB8 =0CG=>9 AB0BL8? 
12) �0:>2 4>;65= 1KBL ?;0= A>G8=5=8я? 
13) +B> 4>;6=> ?>:070BL A>G8=5=85? 
14) �0:>2 4>;65= 1KBL я7K: A>G8=5=8я? 
15) �0:>2K ?@54;>65=8я 22545=8я 8 70:;NG5=8я? 
16) �0:>2> =07=0G5=85 0170F52 A>G8=5=8я? 
17) �0:>2 B8?8G=K9 >1@075F 0:045<8G5A:>3> MAA5? 
18) �0:85 ?@54;>65=8я AB>8B AB@>8BL? �ABL ;8 @07;8G8я <564C @CAA:8<8 8 0=3;89A:8<8 
?@54;>65=8я<8? � G5< >=8 70:;NG0NBAя? 
19) �0: A;54C5B >D>@<;яBL :064K9 >B45;L=K9 ?0@03@0D? 
20) �0:>2K =081>;55 B8?8G=K5 0=3;89A:85 A;>20 8 D@07K 4;я >D>@<;5=8я G0AB59 =0CG=>3> 
MAA5? 
 

�@8B5@88 >F5=:8 CG0AB8я 2 15A545 ?> B5<5: 
#@8 >F5=:5 40==>3> 2840 @01>BK 206=59H8< :@8B5@85< я2;я5BAя A?>A>1=>ABL ?@8<5-

=яBL A>2@5<5==K5 :><<C=8:0B82=K5 B5E=>;>388, 2 B>< G8A;5 2 CAB=>9 15A545 =0 0=3;89A:>< 
я7K:5 4;я 0:045<8G5A:>3> 8 ?@>D5AA8>=0;L=>3> 2708<>459AB28я, 0=0;878@>20BL 8 CG8BK20BL 
@07=>>1@0785 :C;LBC@ 2 ?@>F5AA5 <56:C;LBC@=>3> 2708<>459AB28я. %BC45=B 4>;65= ?>:070BL 
7=0=85 ;5:A8:8 >1I53> 8 B5@<8=>;>38G5A:>3> E0@0:B5@0 8 =>@< @5G52>3> MB8:5B0 4;я B>3>, 
GB>1K =0G8=0BL, 25AB8, ?>445@6820BL 8 70:0=G820BL 480;>3-@0AA?@>A, 480;>3->1<5= <=5=8я-
<8, C<5=85 2>A?@8=8<0BL =0 A;CE, CG0AB2>20BL 2 >1AC645=88 >?@545;5==>9 B5<K, 2;045=85 
=081>;55 C?>B@518B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 4;я CAB=>9 @5G8.  
2. ���. !0?8A0BP =0CG=CR AB0BPR, B578AO : =59. 
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�$�&�$�� "*�!�� $$ - ?@575=B0F88 
"1I8<8 :@8B5@8я<8 >F5=:8 B2>@G5A:>9 @01>BK я2;яNBAя A0<>AB>яB5;L=>ABL, >@838-

=0;L=>ABL 70<KA;0 @01>BK, C@>25=L 55 :><?>78F8>==>3> 8 AB8;52>3> @5H5=8я, @5G52>3> 
>D>@<;5=8я. �71KB>G=K9 >1J5< @01>BK =5 2;8я5B =0 ?>2KH5=85 >F5=:8. /7K:>2K<8 :@8B5-
@8я<8 ?@8 >F5=:5 $$ - ?@575=B0F88 я2;яNBAя A?>A>1=>ABL ?@8<5=яBL A>2@5<5==K5 B5E=>;>-
388, CG8BK20BL <56:C;LBC@=>5 @07=>>1@0785 2 CAB=>9 8 ?8AL<5==>9 :><<C=8:0F88 =0 0=-
3;89A:>< я7K:5, 7=0=85 ;5:A8:8 >1I53> 8 ?@>D5AA8>=0;L=>3> E0@0:B5@0, C<5=85 A?@028BLAя A 
@5G52>9 7040G59, 2;045=85 =081>;55 C?>B@518B5;L=>9 (107>2>9) 3@0<<0B8:>9, E0@0:B5@=>9 
4;я 0=3;89A:>3> я7K:0. 
 
&01;8F0 5 – �@8B5@88 >F5=:8 AD>@<8@>20==>AB8 :><?5B5=F89  

�>4 8 =08<5=>20=85 8=48:0B>@0 4>AB865=8я 
:><?5B5=F88  

(G0AB8 :><?5B5=F88) 

�@8B5@88 >F5=820=8я AD>@<8@>20==>AB8 
:><?5B5=F88 (G0AB8 :><?5B5=F88) 
A>>B25BAB2C5B >F5=:5 «70GB5=>» 

50-100% >B <0:A8<0;L=>3> 10;;0 

'�- 4.1 �5<>=AB@8@C5B 8=B53@0B82=K5 C<5-
=8я, =5>1E>48<K5 4;я =0?8A0=8я, ?8AL<5=-
=>3> ?5@52>40 8 @540:B8@>20=8я @07;8G=KE 
0:045<8G5A:8E B5:AB>2 (@5D5@0B>2, MAA5, >1-

7>@>2, AB0B59 8 B.4.) 
'�-4.2. #@54AB02;я5B @57C;LB0BK 0:045<8-
G5A:>9 8 ?@>D5AA8>=0;L=>9 45яB5;L=>AB8 =0 
@07;8G=KE <5@>?@8яB8яE, 2:;NG0я <564C-

=0@>4=K5 
'�-4.3. �5<>=AB@8@C5B 8=B53@0B82=K5 C<5-
=8я, =5>1E>48<K5 4;я MDD5:B82=>3> CG0-
AB8я 2 0:045<8G5A:8E 8 ?@>D5AA8>=0;L=KE 

48A:CAA8яE 

%BC45=B ?>:07K205B E>@>H85 7=0=85 8 ?>-
=8<0=85 B5<K <>4C;я: 7=05B =0AB>яI55 2@5-
<я 2>72@0B=KE 8 <>40;L=KE 3;03>;>2,  <5-
AB>8<5=85 man, @07;8G05B 8 C<55B C?>B@51-
;яBL 3;03>;K, ?>GB8 =5 4>?CA:05B >H81>: 2 
?>AB@>5=88 CAB=>9 8 ?8AL<5==>9 @5G8, 45-
<>=AB@8@C5B 8=B53@0B82=K5 C<5=8я, =5>1-
E>48<K5 4;я =0?8A0=8я, ?8AL<5==>3> ?5@5-
2>40 8 @540:B8@>20=8я @07;8G=KE 0:045<8-
G5A:8E B5:AB>2, CG0AB8я 2 0:045<8G5A:8E 8 
?@>D5AA8>=0;L=KE 48A:CAA8яE, <>65B ?@54-
AB02;яBL @57C;LB0BK 0:045<8G5A:>9 8 ?@>-
D5AA8>=0;L=>9 45яB5;L=>AB8 =0 @07;8G=KE 
<5@>?@8яB8яE, A?>A>15= =0 107>2>< C@>2=5 
>ACI5AB2;яBL A1>@, >1@01>B:C, 0=0;87 8 A8-
AB5<0B870F8N =0CG=>-B5E=8G5A:>9 8=D>@-
<0F88, >B5G5AB25==>3> 8 70@C156=>3> >?KB0 

=0 8=>AB@0==>< я7K:5 
 

 

"17>@=>->1>1I0RI55 70=яB85: 
1. �5:A8:>-3@0<<0B8G5A:89 B5AB 
 

�O59D<F9 <; 84AAOI E?B6 7?47B? (B8<A 64D<4AF BF69F4): 
mature 

nitrogen 

+to harvest 

wheat 

 

�O59D<F9 <; 84AAOI E?B6 CD<?474F9?PAB9 (B8<A 64D<4AF BF69F4): 
soil fertility 

red clover 

+favourable 

light 

 

�O59D<F9 CD46<?PAO= C9D96B8 F9D@<A4 (B8<A 64D<4AF BF69F4): 
world population increases 

@>AB =0A5;5=8я 2 <8@5 
A>:@0I5=85 =0A5;5=8я 2 <8@5 
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?@8@>AB =0 4CHC =0A5;5=8я 
+=0A5;5=85 2 <8@5 C25;8G8205BAя 
 

�O59D<F9 CD46<?PAGN HBD@G 7?47B?4- E>4;G9@B7B (B8<A 64D<4AF BF69F4): 
This variety ... some years ago. 
will develop 

developed  

+was developed 
has been developed 

 

�O59D<F9 CD46<?PAGN HBD@G 7?47B?4- E>4;G9@B7B (B8<A 64D<4AF BF69F4): 
Agriculture ... people with food products. 
is supplied 

+supplies 

will be supplied 

has supplied 

 

�O59D<F9 CD46<?PAGN HBD@G 7?47B?4- E>4;G9@B7B (B8<A 64D<4AF BF69F4): 
We … a new experiment on our farm next month. 
+shall begin 

have begun 

shall have begun 

began 

 

�O59D<F9 AG:AGN HBD@G CD<?474F9?PAB7B (B8<A 64D<4AF BF69F4): 
All plants require favourable conditions for their ... growth. 
+best 

worst 

better 

good 

 

�O59D<F9 AG:AGN HBD@G CD<?474F9?PAB7B (B8<A 64D<4AF BF69F4): 
Light is ... for photosynthesis. 
more necessary 

the most necessary 

+necessary  

less necessary 

 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4): 
The quality of the grain harvested is high. 
+�0G5AB2> A>1@0==>3> 75@=0 - 2KA>:>5. 
�0G5AB2> 75@=0, B>;L:> GB> A>1@0==>3>, - 2KA>:>5. 
�0G5AB2> 5653>4=> A>18@05<>3> 75@=0 - 2KA>:>5. 
�0G5AB2> 75@=0, A>1@0==>3> <0H8=0<8, - 2KA>:>5. 
 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4): 
Crops growing well under warm conditions are short - day crops. 
�K@0I8205<K5 2 B5?;KE CA;>28яE :C;LBC@K >B=>AяBAя : :C;LBC@0< :>@>B:>3> 4=я. 
+�C;LBC@K, @0ABCI85 E>@>H> 2 B5?;KE CA;>28яE, >B=>AяBAя : :C;LBC@0< :>@>B:>3> 4=я. 
�C;LBC@K, 2K@0I5==K5  2 B5?;KE CA;>28яE, >B=>AяBAя : :C;LBC@0< :>@>B:>3> 4=я. 
#@>87@0AB0я 2 B5?;KE CA;>28яE, :C;LBC@K >B=>AяBAя : :C;LBC@0< :>@>B:>3> 4=я. 

 
" >4>B@ CDBJ9EE9 <8ёF D9KP 6 E?98GNщ9@ F9>EF9?(B8<A 64D<4AF BF69F4) 
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The first hybrids between wheat and rye were obtained in 1875. But those hybrids were highly ster-

ile and did not reproduce. Triticale as a variety was first produced in Hungary ( ) in 1968. In North 

America the first variety of triticale was developed in 1970. A few thousand hectares of triticale 

were grown in the Soviet Union in 1973. 

 

photosynthesis 

+hybridization 

selection 
respiration 

 

�O59D<F9 CD46<?PAO= C9D96B8 F9D@<A4 (B8<A 64D<4AF BF69F4): 
drainage and irrigation practices 
?@0:B8:0 ?> >ACH5=8N 8 >@>H5=8N; 
?@8ё<K >ACH5=8я 8 >@>H5=8я; 
?@028;0 >ACH5=8я 8 >@>H5=8я; 
+>ACH5=85 8 >@>H5=85 =0 ?@0:B8:5. 
 

�O59D<F9 CD46<?PAGN HBD@G 7?47B?4 -  E>4;G9@B7B (B8<A 64D<4AF BF69F4): 
The seedbed preparation ... by planting the crop. 
follows 

+was followed 

is following 

was following 

 

�O59D<F9 CD46<?PAGN HBD@G 7?47B?4 -  E>4;G9@B7B (B8<A 64D<4AF BF69F4): 
Nowadays the world population … at a rapid rate. 
+is growing 

was grown  

grows 

has grown 

 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4): 
Last year our biologists ... some improved crop varieties. 
were produced 

+produced 

have produced 

were producing 

 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4): 
The quality of the grain depends on the method of harvest used. 
+�0G5AB2> 75@=0 7028A8B >B 8A?>;L7C5<>3> <5B>40 C1>@:8 C@>60я. 
�0G5AB2> 75@=0 7028A8B >B <5B>40 C1>@:8 C@>60я, 8A?>;L7C5<>3> :>;E>7=8:0<8. 
�0G5AB2> 75@=0 7028A8B >B <5B>40 C1>@:8 C@>60я, :>B>@K9 ?@8<5=яNB. 
�0G5AB2> 75@=0 7028A8B >B 8A?>;L7>20=8я 40==>3> <5B>40 C1>@:8 C@>60я. 
 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4): 
Biennials are plants growing for two years. 
+�2C;5B=85 - @0AB5=8я, @0ABCI85 2 B5G5=85 42CE ;5B. 
�2C;5B=85 - @0AB5=8я, 2K@0I8205<K5 2 B5G5=85 42CE ;5B. 
�2C;5B=85 - @0AB5=8я, :>B>@K5 2K@0I820NB 2 B5G5=85 42CE  ;5B. 
�2C;5B=85 - @0AB5=8я, 2K@0I5==K5 70 420 3>40. 
 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4): 
Legumes are known to improve soil fertility.  
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+�725AB=>, GB> 1>1>2K5 C;CGH0NB ?;>4>@>485 ?>G2K. 
�725AB=K 1>1>2K5, :>B>@K5 C;CGH0NB ?;>4>@>485 ?>G2K. 
�725AB=K5 1>1>2K5 C;CGH0NB ?;>4>@>485 ?>G2K. 
�725AB=K 1>1>2K5, C;CGH0NI85 ?;>4>@>485 ?>G2K. 
 

We know organic matter to affect soil fertility greatly. 
!0< 8725AB=> >@30=8G5A:>5 25I5AB2>, :>B>@>5 A8;L=> 2;8я5B =0 ?;>4>@>485 ?>G2K. 
+ K 7=05<, GB> >@30=8G5A:>5 25I5AB2> A8;L=> 2;8я5B =0 ?;>4>@>485 ?>G2K. 
�0: 8725AB=>, >@30=8G5A:>5 25I5AB2> A8;L=> 2;8я5B =0 ?;>4>@>485 ?>G2K. 
!0< 8725AB=> >@30=8G5A:>5 25I5AB2>, A8;L=> 2;8яNI55 =0 ?;>4>@>485 ?>G2K. 
 

" >4><I 86GI 64:AOI CD<ё@4I, 6?<яNщ<I A4 6OD4щ<64A<9 E9?PE>BIB;я=EF69AAOI >G?PFGD, 
<8ёF D9KP 6 E?98GNщ9@ F9>EF9? (864 64D<4AF BF69F4): 

Water must be available in the soil to compensate its losses through some natural processes dur-

ing the growing season.  

However the moisture content of a soil is not always optimum for the highest crop production. 

Usually there is either a deficiency or a too big amount of it, and crop production is reduced. 

Some soils contain too much water at all times, and to be used for agriculture they require special 

drainage. There are soils which are always deficient in moisture because of inadequate rainfall, and 

will produce poor crops unless they are irrigated. 

 

plowing under 

+drainage 

weed control 

+irrigation 

 

�O59D<F9 CD46<?PAGN HBD@G 7?47B?4 – E>4;G9@B7B (B8<A 64D<4AF BF69F4): 
New methods of weed control ... on this farm, and good results have been obtained. 
used 

will use 

have used 

+have been used 

 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4) 
Being adapted to the conditions of our region sorghum produces high yields. 
�40?B8@>202H8AL 2 CA;>28яE =0H53> @538>=0, A>@3> 40ёB 2KA>:85 C@>608. 
+�C4CG8 ?@8A?>A>1;5==K< : CA;>28я< =0H53> @538>=0, A>@3> 40ёB 2KA>:85 C@>608. 
#@8A?>A01;820яAL : CA;>28я< =0H53> @538>=0, A>@3> 40ёB 2KA>:85 C@>608. 
&0: :0: A>@3> ?@8A?>A>18;>AL : CA;>28я< =0H53> @538>=0, >=> 40ёB 2KA>:85 C@>608. 
 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4) 
The farmer could improve his soil by having provided it with the necessary mineral elements. 
+(5@<5@ A<>3 C;CGH8BL ?>G2C, >15A?5G82 5ё =5>1E>48<K<8 <8=5@0;L=K<8 M;5<5=B0<8. 
(5@<5@ A<>3 C;CGH8BL ?>G2C, >15A?5G820я 5ё =5>1E>48<K<8 <8=5@0;L=K<8 M;5<5=B0<8. 
(5@<5@ A<>3 C;CGH8BL ?>G2C, B0: :0: >=0 1K;0 >15A?5G5=0 =5>1E>48<K<8 <8=5@0;L=K<8 
M;5<5=B0<8. 
(5@<5@ A<>3 C;CGH8BL ?>G2C 2=5A5=85< =5>1E>48<KE <8=5@0;L=KE M;5<5=B>2. 
 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4) 
Winter wheat having been sown in August, its roots can develop well before winter. 
"78<0я ?H5=8F0, 1C4CG8 ?>A5я==>9 2 023CAB5, <>65B E>@>H> @0728BL A2>8 :>@=8 4> 78<K. 
+&0: :0: >78<CN ?H5=8FC ?>A5я;8 2 023CAB5, 5ё :>@=8 <>3CB E>@>H> @0728BLAя 4> 78<K. 
' >78<>9 ?H5=8FK, ?>A5я==>9 2 023CAB5, :>@=8 E>@>H> @072820NBAя 4> 78<K. 
�>340 >78<CN ?H5=8FC A5NB 2 023CAB5, 5ё :>@=8 E>@>H> @072820NBAя 4> 78<K. 
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�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4) 
Cereals are usually grown for obtaining grain, the latter being mainly used as fool for people 
and feed for livestock. 
+�;0:>2K5 >1KG=> H8@>:> 2K@0I820NBAя 4;я ?>;CG5=8я 75@=0, ?@8Gё< ?>A;54=55 8A?>;L7C-
5BAя, 3;02=K< >1@07><,  2 :0G5AB25 ?8I8 4;я ;N459 8 :>@<0 4;я A:>B0. 
�;0:>2K5 >1KG=> H8@>:> 2K@0I820NBAя 4;я ?>;CG5=8я 75@=0, :>B>@>5 8A?>;L7C5BAя, 3;02-
=K< >1@07><, :0: ?8I0 4;я ;N459 8 :>@< 4;я A:>B0. 
�;0:>2K5 H8@>:> 2K@0I820NBAя 4;я ?>;CG5=8я 75@=0, ?>B><C GB> >=8 8A?>;L7CNBAя, 3;02-
=K< >1@07><, :0: ?8I0 4;я ;N459 8 :>@< 4;я A:>B0. 
�;0:>2K5 H8@>:> 2K@0I820NBAя 4;я ?>;CG5=8я 75@=0, 8A?>;L7C5<>3>, 3;02=K< >1@07><, 2 
:0G5AB25 ?8I8 4;я ;N459 8 :>@<0  4;я A:>B0. 
 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4) 
To obtain nutrients and water from the soil is the main function of plant roots. 
"A=>2=0я DC=:F8я :>@=59 @0AB5=8я A>AB>8B 2 B><, GB>1K ?>;CG0BL ?8B0B5;L=K5 25I5AB20 8 
2>4C 87 ?>G2K. 
+#>;CG5=85 ?8B0B5;L=KE 25I5AB2 8 2>4K 87 ?>G2K - >A=>2=0я DC=:F8я :>@=59 @0AB5=8я. 
�;я ?>;CG5=8я ?8B0B5;L=KE 25I5AB2 8 2>4K 87 ?>G2K A;C68B >A=>2=0я DC=:F8я :>@=59 @0A-
B5=8я. 
�>1K20я ?8B0B5;L=K5 25I5AB20 8 2>4C 87 ?>G2K, :>@=8 2K?>;=яNB A2>N >A=>2=CN DC=:F8N. 
 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4) 
The seedbed to be used for sowing grain crops should be rich in organic matter. 
#0H=я, 8A?>;L7C5<0я 4;я ?>A520 75@=>2KE :C;LBC@, 4>;6=0 8<5BL 1>30B>5 A>45@60=85 >@30-
=8G5A:>3> 25I5AB20. 
+#0H=я, :>B>@CN 1C4CB 8A?>;L7>20BL 4;я ?>A520 75@=>2KE :C;LBC@, 4>;6=0 8<5BL 1>30B>5 
A>45@60=85 >@30=8G5A:>3> 25I5AB20. 
#0H=я, 8A?>;L7CNI0яAя 4;я ?>A520 75@=>2KE :C;LBC@, 4>;6=0 8<5BL 1>30B>5 A>45@60=85 >@-
30=8G5A:>3> 25I5AB20. 
#0H=я, :>B>@CN 8A?>;L7CNB 4;я ?>A520 75@=>2KE :C;LBC@, 4>;6=0 8<5BL 1>30B>5 A>45@60=85 
>@30=8G5A:>3> 25I5AB20. 
 

�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4) 
Alfalfa and clover are known to belong to forage crops. 
+�NF5@=0 8 :;525@, :0: 8725AB=>, >B=>AяBAя : DC@06=K< :C;LBC@0<. 
�NF5@=0 8 :;525@ 8725AB=K :0: DC@06=K5 :C;LBC@K. 
 K 7=05<, GB> ;NF5@=0 8 :;525@ >B=>AяBAя : DC@06=K< :C;LBC@0<. 
�NF5@=0 8 :;525@ - 8725AB=K5 DC@06=K5 :C;LBC@K. 
 
�4>B9 DGEE>B9 CD98?B:9A<9 EBBF69FEF6G9F 4A7?<=E>B@G (B8<A 64D<4AF BF69F4) 
Any student knows different crops to require different kinds of seedbed. 
�N1>9 ABC45=B 7=05B @07;8G=K5 :C;LBC@K, B@51CNI85 @07=K5 284K ?0H=8. 
+�N1>9 ABC45=B 7=05B, GB> @07;8G=K5 :C;LBC@K B@51CNB @07=K5 284K ?0H=8. 
�N1>9 ABC45=B 7=05B @07;8G=K5 :C;LBC@K, :>B>@K< B@51CNBAя @07=K5 284K ?0H=8. 
�N1><C ABC45=BC 8725AB=K @07;8G=K5 :C;LBC@K, :>B>@K5 =C640NBAя 2 @07;8G=KE 2840E 
?0H=8. 

 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Climate is the … environmental factor for all. 
least important 

less important 

more important 
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+most important 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
This crop … developed some years ago. 
is 

+was 

were 

will be 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
All plants require … environmental conditions. 
bad 

difficult 

+favourable 

short 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Yields are often increased by … of fertilizers. 
applicated 

+application 

applied 

Apply 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Crop production … on many factors. 
depend 

+depends 

dependence 

depending 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
is necessary for photosynthesis. 

fertilizers 

+light 

soil 

water 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
This type of soil … well … to potato growing. 
are adapted 

have adapted 

+is adapted 

were adapted 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
The planting of warm-season crops … be done into warm soil. 
can9t 
mustn9t 
+should 

shouldn9t 
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�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
… the reproductive phase the plant flowers and produces seeds.  

being reached 

+having reached 

reached 

reaches 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
… under favourable environmental conditions the plants grow and flower well and pro-

duce much seed. 

+being raised 

having raised 

raised 

raising 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
The new methods … good results. 
produced/used 

producing/using 

+used/produced 

using/producing 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
… problem is very important. 

crop increase production 

+crop production increase 

increase production crop 

production crop increase 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Most small grains require much … for their growth. 
+light 

nutrients 

crops 

seeds 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Ecosystem is the smallest unit in nature that can … independently. 
lives 

+live 

living 

lived 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Plant is always … of an ecosystem. 
+part 

parts 

crops 

grasses 
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�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Crops are variously grouped and … . 
classify 

classifying 

classifies 

+classified 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
… crops are these that complete their life cycle in one season.  

biennial 

perennial 

+annual 

grasses 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
There are some botanical families that … crop plants widely used by man. 
+include 

increase 

improve 

decrease 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
A  mixed fertilizers … to improve this soil. 
+are sure 

is sure 

were sure 

have sure 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
The agronomist wanted the practice of minimum tillage … on the farm. 
+to be applied 

to apply 

apply 

to applied 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
That soil is better for growing potatoes than that … . 
+one 

ones 

it 

those 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
There … many different ways of applying fertilizers. 
+are 

is 

was 

be 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
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This method did not give good results, let’s use another … . 
+one 

methods 

ones 

these 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Seeds of various kinds of plants require specific conditions for … . 
light 

+germination 

moisture 

air 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
He is the best … on the farm. 
crop expert improvement 

+crop improvement expert 

improvement crop expert 

expert improvement crop 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Plants need water and nutrients … well. 
to plant 

to decrease 

+to grow 

to water 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Different chemicals are used in order … pests. 
to improve 

to increase 

+to control 

to grow 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
We … begin planting, for the soil is not warm enough. 
+cannot 

can 

must 

should 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Our aim … develop mew corn varieties. 
have to 

were to 

are to 

+is to 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
You … control weeds better. 
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+have to 

needn9t 
is to 

has to 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Crops … in this region should be adapted to the environmental conditions. 
+to be grown 

to grow 

to be growing 

to have grown 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Ecosystem is the smallest unit in nature that can live independently. 

lives 

+live 

living 

lived 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Plant is always … of an ecosystem. 
+part 

parts 

crops 

grasses 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Crops are variously grouped and … . 
classify 

classifying 

classifies 

+classified 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
… crops are these that complete their life cycle in one season.  

biennial 

perennial 

+annual 

grasses 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
There are some botanical families that … crop plants widely used by man. 
+include 

increase 

improve 

decrease 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
This crop … developed some years ago. 
is 
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+was 

were 

will be 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
All plants require … environmental conditions. 
bad 

difficult 

+favourable 

short 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Most small grains require much … for their growth. 
+light 

nutrients 

crops 

seeds 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 

Biennials are plants growing for … years. 
+two 

one 

three 

four 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Cereal crops are known as the most … ones for man. 
different 

difficult 

+important 

high 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Grasses grown for grain belong to … crops. 
+cereal 

tuber 

fiber 

root 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Last year the farmers … new methods of yield increases. 
use 

uses 

+used 

was using 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Sugarbeets do not … to the grass family. 
+belong 

use 
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plant 

grow 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
There are … annuals planted in autumn and harvested next summer. 
autumn 

summer 

spring 

+winter 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Many plants live for more than two seasons. Such plants are known as … . 
annuals 

biennials 

+perennials 

active 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Plants … flowers and fruit when days are short are known as short-day plants. 

produced 

+producing 

produces 

produce 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
A cereal is a grass … for its edible grain . 
+grown 

grouped 

obtained 

done 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
The main legumes grown for seeds are field peas, field beans and … . 
+soybeans 

oats 

wheat  

rye 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
A  tuber is not a root, it is a short thickened underground … . 
+stem 

leaf 

flower 

pod 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Almost all fibre crops produce seed containing valuable … used either as human food or as 
industrial material. 

+oil 

sugar 
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hay 

rice 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Different forage crops are grown for … farm animals. 
+feeding 

feeds 

feed 

fed 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
This type of soil … well … to potato growing. 
+is adapted 

are adapted 

were adapted 

have adapted 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Grain is the product … by man by … cereals. 
obtaining/growing 

obtaining/grown 

+obtained/growing 

obtained/grown 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Some soils are rich is all kinds of food … by plants. 
+required 

requiring 

require 

requires 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Crop production can be raised by … new land or by … crop yields. 
cultivating/increased 

cultivated/increased 

cultivated/ increasing 

+cultivating/increasing 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Corn, sorghum rice and millets are the crops … to conditions of short day. 
adapt 

adapts 

+adapted 

have adapted 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
The farm … soil fertility by applying fertilizers and growing legumes. 
increase 

+increases 

improve 
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improving 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Soybean grain is highly … and many human foods are produced from it. 

necessary 

+nutritious 

possible 

moist 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Edible legumes are high in plant … which is necessary both for man and farm animals. 
air 

sugar 

+protein 

moisture 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Being in the soil the roots are as important as the tops. 

be 

been 

+being 

was 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
The … portion of a plant consists of leaves and stems. 
underground 

+above ground 

ground 

groundless 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
… the reproductive phase the plant flowers and produces seeds.  

reached 

being reached 

+having reached 

reaches 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
… under favourable environmental conditions the plants grow and flower well and produce 

much seed. 

raising 

raised 

having raised 

+being raised 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
The planting of warm-season crops … be done into warm soil. 
+should 

can9t 
mustn9t 
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shouldn9t 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
The new methods … good results. 
+used/produced 

produced/used 

using/producing 

producing/using 

�O59D<F9 CD46<?PAO= 64D<4AF (B8<A 64D<4AF BF69F4): 
Farmers … improved crop varieties usually … good results. 
growing/ obtaining 

+growing/obtain 

grow/obtaining 

grows/obtains 
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�O59D<F9 CD46<?PAO= 64D<4AF BF69F4 
1. ':068B5 ?@54;>65=85, 459AB285 2 :>B>@>< >B=>A8BAя : ?@>H;><C: 
They will build another house at the end of the street. 

She is reading a book about electricity. 

+ He decided to start a business of his own. 

 
2. ':068B5 ?@54;>65=85, 459AB285 2 :>B>@>< >B=>A8BAя : 1C4CI5<C: 
+ She will phone you as soon as she returns home. 

The meeting went as usual. 

 Night insects are bothering the campers. 
 
3. ':068B5 ?@54;>65=85, 459AB285 2 :>B>@>< >B=>A8BAя : =0AB>яI5<C: 
+They are developing a strategy to achieve their goals.  

You didn9t do the task properly. 
This team will surely win the tournament. 

 
4. ':068B5 ?@54;>65=85, 2 :>B>@>< 3;03>; AB>8B 2 Present Perfect:  
The never understand the importance of planning. 

There are too few benches in the park. 

+ He has finished the assignment just in time. 
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5. ':068B5 ?@54;>65=85, 2 :>B>@>< 8A?>;P7C5BAя ?0AA82=O9 70;>3 (Passive voice): 
+ A reporter asked him  why the taxes were not paid when they should have been. 

Generally we allow you to browse our website without giving us any personal information. 

Yesterday he inadvertently revealed that his security company had problems. 

 
6. ':068B5 ?@54;>65=85, 2 :>B>@>< 8A?>;P7C5BAя <>40;P=O9 3;03>;: 
Businesses have only one goal: profits  

Eventually they reduced their prices after the government started an investigation.. 
+They can sell their product up to 90 percent cheaper. 

 
7. ':068B5 ?@54;>65=85, 2 :>B>@>< <>40;P=O9 3;03>; AB>8B 2 >B@8F0B5;P=>9 D>@<5: 
Bottled water manufacturers are also fond of promoting their products with meaningless words like 

<mountain water=. 
+ Customers couldn't reach her for months after phone company's mistake. 

This company profoundly changed how people communicate around the world. 

�O59D<F9 CD46<?PAO= 64D<4AF BF69F4 
 
8.�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  
Would you like a hand with those bags? 

request (70?@>A, ?@>AL10) 
+ an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

9..�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

She could sell more than all the other salespeople put together. 
request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
+ability (A?>A>1=>ABL) 
 

10.�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

He could program computers in Basic when he was four. 
request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
+ability (A?>A>1=>ABL) 
 

11.�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

Could you help me to write this e-mail – my Spanish isn’t very good. 
+request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

12.�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

Can I get you something to drink? 

request (70?@>A, ?@>AL10) 
+an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

13.�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
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"?@545;8B5 B8? <>40;L=>AB8:  

May I ask a question? 

+request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

14.�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  
Please, would you stop talking – I’m trying to concentrate. 
+request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
ability (A?>A>1=>ABL) 
 

15.�O59D<F9 CD46<?PAO= 64D<4AF BF69F4: 
"?@545;8B5 B8? <>40;L=>AB8:  

They can organize the campaign very quickly. 
request (70?@>A, ?@>AL10) 
an offer (?@54;>65=85) 
+ability (A?>A>1=>AB8) 
 

 

�040=8я >B:@OB>3> B8?0 
 

Д4=F9 D4;69DAGFO= BF69F A4 6BCDBE 

1. What is your name? (�0: �0A 7>2CB?)  
#D46<?PAO= BF69F: My name is & 

 
2. Where do you come from? ("B:C40 �O ?@85E0;8?) 
#D46<?PAO= BF69F: I was born in   & 

 
3. What do you look like? (�0: 2O 2O3;я48B5?) 
#D46<?PAO= BF69F: I am a tall handsome guy with broad shoulders. 

 
4. Which school did you graduate from? (�0:CR H:>;C �O 70:>=G8;8?) 
#D46<?PAO= BF69F: The one and only school in our town. 

 
5. What are your parents’ professions? (�B> �0H8 @>48B5;8 ?> ?@>D5AA88?) 
#D46<?PAO= BF69F: My mother was a writer, my father was a laywer. 

 
6. Where are you studying? (�45 �O CG8B5AP?) 
#D46<?PAO= BF69F: At Kostoma State Agricultural Academy if I9m not mistaken. 
 
7. What kind of person are you? (+B> �O 70 G5;>25:?) 
#D46<?PAO= BF69F: I am very friendly but sometimes I feel I9m going to snap. 

 
8. What are your hobbies and interests? (+5< �O 8=B5@5AC5B5AP?) 
#D46<?PAO= BF69F: My passion is Australia – I9m dreaming to visit it some day. 
 
9.  How do you spend your free time? (�0: �O ?@>2>48B5 A2>1>4=>5 2@5<я?) 
#D46<?PAO= BF69F: Unfortunately I don9t have much free time these days.  
 

10. What books do you read? (�0:85 :=838 �O G8B05B5?)  
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#D46<?PAO= BF69F: I am a big fan of classical Russian literature. 

 

11. What is electricity?  (+B> B0:>5 Q;5:B@8G5AB2>?) 
#D46<?PAO= BF69F: The flow of electrical power or charge. 

 
12. What is an electric current? (+B> B0:>5 Q;5:B@8G5A:89 B>:?) 
#D46<?PAO= BF69F: A a flow of charged particles, such as electrons or ions, moving through an 

electrical conductor or space. 
 
13. What is an electrical charge? (+B> B0:>5 Q;5:B@8G5A:89 70@я4?) 
#D46<?PAO= BF69F: A description of how particles interact with each other electrically. 
 
14. Where does electricity come from? ("B:C40 15@5BAя Q;5:B@8G5AB2>?) 
#D46<?PAO= BF69F: Everything has electrons. "Electricity" is what happens when we force those 

electrons to move. 

 

ДBCB?A<F9 

15. England is a part of  ___________________. (�=3;8я – QB> G0ABP ______.) 
#D46<?PAO= BF69F: Great Britain/ the UK. 

 
16. The capital of the United Kindom is – ___________________. (%B>;8F0 �@8B0=88 – 
__________.) 
#D46<?PAO= BF69F: London. 

 
17. London stands on the river  ___________________. (�>=4>= =0E>48BAя =0 @5:5 
_________.) 
#D46<?PAO= BF69F: Thames. 

 
18. The United States border ___________________. (%,� 3@0=8G0B A _________.) 
#D46<?PAO= BF69F: Canada and Mexico. 

 
19. Maple leaf is the symbol of ___________________. (�;5=>2O9 ;8AB – QB> A8<2>; 
_______________.) 
#D46<?PAO= BF69F: Canada. 

 
20. Curriculum vitae is also known as   ___________________.(Curriculum vitae B0:65 
=07O205BAя _____________.) 
#D46<?PAO= BF69F: Resume. 

 
21. A resume is used to ___________________. ($57R<5 8A?>;P7C5BAя ?@8 ______.) 
 #D46<?PAO= BF69F: apply for a job. 

Д4=F9 D4;69DAGFO= BF69F A4 6BCDBE 

22. What is your surname? (�0: �0H5 >BG5AB2>?)  
#D46<?PAO= BF69F: My surname is & 

 
23. Where were you born? (�45 �O @>48;8AP?) 
#D46<?PAO= BF69F: I was born in   & 

 
24. What does your mother look like? (�0: 2O3;я48B 20H0 <0<0?) 
#D46<?PAO= BF69F: She is a tall kind woman with blue yis. 

 
25. When did you graduate from school? (�>340 �O 70:>=G8;8 H:>;C?) 
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#D46<?PAO= BF69F: in&&year. 
26. What are your sisters and brothers’ professions? (�B> �0H8 A5AB@O 8 1@0BPя ?> ?@>D5A-
A88?) 
#D46<?PAO= BF69F: My sister was a writer, my brother was a laywer. 

 
27. Where are you living now? (�45 �O 6825B5 A59G0A?) 
#D46<?PAO= BF69F: At Kostoma State Agricultural Academy dometry. 

 
28. What kind of person do  you like? (�0:8E ;R459 �O ;R18B5?) 
#D46<?PAO= BF69F: very friendly. 

 
29. What are your hobbies and interests? (+5< �O 8=B5@5AC5B5AP?) 
#D46<?PAO= BF69F: My passion is Australia – I9m dreaming to visit it some day. 
 
30.  How do you spend your free time? (�0: �O ?@>2>48B5 A2>1>4=>5 2@5<я?) 
#D46<?PAO= BF69F: Unfortunately I don9t have much free time these days.  

 

31. What books do you read? (�0:85 :=838 �O G8B05B5?)  
#D46<?PAO= BF69F: I am a big fan of classical Russian literature. 

 

32. What is electricity?  (+B> B0:>5 Q;5:B@8G5AB2>?) 
#D46<?PAO= BF69F: The flow of electrical power or charge. 

 
33. What is an electric current? (+B> B0:>5 Q;5:B@8G5A:89 B>:?) 
#D46<?PAO= BF69F: A a flow of charged particles, such as electrons or ions, moving through an 

electrical conductor or space. 
 
34. What is an electrical charge? (+B> B0:>5 Q;5:B@8G5A:89 70@я4?) 
#D46<?PAO= BF69F: A description of how particles interact with each other electrically. 
 
35. Where does electricity come from? ("B:C40 15@5BAя Q;5:B@8G5AB2>?) 
#D46<?PAO= BF69F: Everything has electrons. "Electricity" is what happens when we force those 

electrons to move. 

 

36. Scotland is a part of  ___________________. (,>B;0=48я – QB> G0ABP ______.) 
#D46<?PAO= BF69F: Great Britain/ the UK. 

 
37. The capital of the United States is – ___________________. (%B>;8F0 %,� – __________.) 
#D46<?PAO= BF69F: Washington. 

 
38. London stands on the river  ___________________. (�>=4>= =0E>48BAя =0 @5:5 
_________.) 
#D46<?PAO= BF69F: Thames. 

 
39. The United States border ___________________. (%,� 3@0=8G0B A _________.) 
#D46<?PAO= BF69F: Canada and Mexico. 

 
40. Maple leaf is the symbol of ___________________. (�;5=>2O9 ;8AB – QB> A8<2>; 
_______________.) 
#D46<?PAO= BF69F: Canada. 

 
41. Curriculum vitae is also known as   ___________________.(Curriculum vitae B0:65 
=07O205BAя _____________.) 
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#D46<?PAO= BF69F: Resume. 

 
42. A resume is used to ___________________. ($57R<5 8A?>;P7C5BAя ?@8 ______.) 
 #D46<?PAO= BF69F: apply for a job. 

43. What are your parents’ professions? (�B> �0H8 @>48B5;8 ?> ?@>D5AA88?) 
#D46<?PAO= BF69F: My mother was a writer, my father was a laywer. 

 
44. Where are you studying? (�45 �O CG8B5AP?) 
#D46<?PAO= BF69F: At Kostoma State Agricultural Academy if I9m not mistaken. 
 
45. What kind of person are you? (+B> �O 70 G5;>25:?) 
#D46<?PAO= BF69F: I am very friendly but sometimes I feel I9m going to snap. 


